ICAR PCB 01

Topic:- PCBO1_Physics

1) 5.74 g of a substance occupies 1.2 cm3. The density of the substance keeping the significant figures in view will be,
5.74 g @1 ugref 1.2 cm?3 enfya @wear 3 Aref® sicl &t zfc A ucrel @I aoica 391 :

[Question ID = 101][Question Description = 101_23_PHY_SEP22_Q01]
1. 4.783 gcm3

[Option ID = 401]
2. 4.78g cm3

[Option ID = 402]
3. 4.7gcm?3

[Option ID = 403]
4. 48gcm3

[Option ID = 404]

2) Dimensional formula of gravitational potential energy is
SRecareHur fasra el o1 faeh g 3 :

[Question ID = 102][Question Description = 102_23_PHY_SEP22_Q02]
1. [MLTZ]

[Option ID = 405]
2. [MLTY

[Option ID = 406]
3. [ML2T 2]

[Option ID = 407]
4. [MLT2]

[Option ID = 408]

3) Parsec is the unit of length used for the measurement of,
TS D AP URID DI YT foroifeiRaa 3 2 fpaas #Arder @ fere v Sirer & ?

[Question ID = 103][Question Description = 103_23_PHY_SEP22_Q03]
1. Size of nucleus

SIIf3h BT MBI

[Option ID = 409]
2. Wavelength of light

YePI9l BT 9T Se=f

[Option ID = 410]
3. Size of molecule

31U} I 3P

[Option ID = 411]
4. Astronomical distance

it gt
[Option ID = 412]



4) From the v-t graph shown below, what is the total displacement during the whole journey?

Fre o 7 v-t TTF & SER €YU T & GRH S0 ARITE /i g ?

V(m/s)
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w [
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. 5 tip)
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[Question ID = 104][Question Description = 104_23_PHY_SEP22_Q04]
1. 100 m

[Option ID = 413]
2. 80m

[Option ID = 414]
3. 60m

[Option ID = 415]
4. 120 m

[Option ID = 416]

5) A ball is thrown vertically upward with a velocity 20 ms™! from the top of a building 20 m high. The ball will hit the
ground after, (g =10m/s?)

e 20 m FA s1del @ ofid A wap 3ig 20 ms™! D Jo1 A Ieafer Hur Bl st 3 Roerel IR WIS T6 dic Aas Uz Bsfk (g =10m/s?)
[Question ID = 105][Question Description = 105_23_PHY_SEP22_Q05]
1. 55

[Option ID = 417]
2. 3s

[Option ID = 418]
3. 25

[Option ID = 419]
4. 1s

[Option ID = 420]

6) In a vernier callipers, 20 divisions of vernier scale coincide with 19 divisions of the main scale. Least count of the main
scale is 1 mm. Vernier constant will be,

U dofRR Dferart 3 doflRr ¥der & 20 31191 IR Yatrel D 19 BT UR AU 3l 3 FIRI UdIol DI Joletdl 1T 1 mm 3 dolRR @I forraid
3eI

[Question ID = 106][Question Description = 106_23_PHY_SEP22_Q06]
1. 0.05cm

[Option ID = 421]
2. 0.005cm

[Option ID = 422]
3. 0.01 cm

[Option ID = 423]
4. 0.001 cm

[Option ID = 424]

7) Rain is falling vertically with speed of 20 ms™'. A woman is riding a with a speed of 40 ms™! in east to west direction.
What is the direction in which she should hold her umbrella?

qui seafer wu A 20 ms™! & arar A 3 @B F v aAlRden 40 ms™! B arar A gd A uRw Ron &I 3 o W 3 IA uehl wad foa Ron A
ol anfde ?
[Question ID = 107][Question Description = 107_23_PHY_SEP22_Q07]



1. at an angle tan"'(1/2) with vertical towards west
Seafer u 3 ufker i o 3 wor tan'(1/2) w

[Option ID = 425]
2. at an angle tan"'(1/2) with vertical towards east

Seaferz u 3 gd &I fem 3 wior tan (1/2) w

[Option ID = 426]
3. at an angle tan"'(1/2) with horizontal towards west

Siferst wu 3 ufder 6 e 3 wior tan1(1/2) w

[Option ID = 427]
4. at an angle tan''(1/2) with horizontal towards east

Siferst »u 3 yd & aiiz wior tan™'(1/2) w
[Option ID = 428]

8) Two bullets are fired simultaneously, horizontally and with different speeds from the same place. Which bullet will hit
the ground first?

AT FToT A Y gele Jiicll Uap ATeT 3ICIoT-3ICT9T JIfel A BIS S 3 Folal A Blor-2H1 aiicll 316 U= Usd cpaLsil ?

[Question ID = 108][Question Description = 108_23_PHY_SEP22_Q08]
1. The faster one

ol aifer 3 VIS oS alleft

[Option ID = 429]
2. The slower one

elioft arfer 31 SISt o1 siteft

[Option ID = 430]
3. Both will reach simultaneously

Gloll U Al IRIAS U DA

[Option ID = 431]
4. The heavier one

91131 alleit

[Option ID = 432]

9) Figure shows a light spring balance connected to two blocks of mass 20 kg by a light
string passing over frictioniess pulley. What will be the reading of the spring balance?

= Bumu 3 H v 5o S o set T & WeN gYRREd et (g 2o e B 9
TS | ST ZH B | HHF GO BT U5 F1 BRI ?

[Question ID = 109][Question Description = 109_23_PHY_SEP22_Q09]
1. Zero

Yo

[Option ID = 433]
2. 40 kg

[Option ID = 434]
3. 20 kg

[Option ID = 435]
4. 10 kg

[Option ID = 436]

10) A block slides down an incline of angle 30° with an acceleration g/4. The coefficient of kinetic friction will be,



U %S g/4 @ cazur A 300 @ el BIvT A Gl 3 $ADI IS FHUT DI T JoM

[Question ID = 110][Question Description = 110_23_PHY_SEP22_Q10]
1. V3

4
[Option ID = 437]

2. V3

2
[Option ID = 438]
3 2

E}
[Option ID = 439]
1

4.
243

[Option ID = 440]

11) If the earth stops rotating, the apparent value of g on its surface will,
afe gedl gufor el € @2 S ad s3B! Ads WR g DI BIRA 6T e ?

[Question ID = 111][Question Description = 111_23_PHY_SEP22_Q11]
1. increase everywhere

e iy

[Option ID = 441]
2. decrease everywhere

de gRi

[Option ID = 442]
3. remain the same everywhere

Il vb JeTeT

[Option ID = 443]
4. increase at some places and remain the same at some other places

@ FAH R iy 3R BB 36 I W V6! F6ll 330

[Option ID = 444]

12) A body of mass m is dropped from a height H reaches the ground with a speed of 1.2@. The work done by air friction is,
m o F1 TF {05 H S 9 1.2/¢H 31 7 ¥ YHos W UgTal &1 a1 9N g fem T e §

[Question ID = 112][Question Description = 112_23_PHY_SEP22_Q12]

1. 0.28 mgH

[Option ID = 445]
2. -0.28 mgH

[Option ID = 446]
3. -0.72 mgH

[Option ID = 447]
4. 0.72 mgH

[Option ID = 448]

13) A particle is rotated in a vertical circle by connecting it to a string of length | and keeping the other end of the string
fixed. The minimum speed of the particle when the string is horizontal for which the particle will complete the circle is,

fep21l ®ftrmr @l | ciaré arel 3551 A Slis®R 3R 3 359, D RN BR Dl forad @? 3eaier ga 3 yfsla o srar 3 w591 & &iferst dlat &t gonr 3
PUT bl oYoicid dIcT oIl 3Rl SRR a6 DI g DI YA B2 ool ?
[Question ID = 113][Question Description = 113_23_PHY_SEP22_Q13]
1. "ISgl
[Option ID = 449]
2. ."3g1

[Option ID = 450]



T
[Option ID = 451]

4 Ja

[Option ID = 452]

14) A projectile is fired at a speed of 100 m/s at an angle of 450 above the horizontal. At the highest point, the projectile
breaks into two equal parts, and one part drops vertically downward. Where the other part will land from the projection

point? (g = 10 m/s?)

Siferst A 45° & wior uz 100 m/s & arer A v YLIdi gPI ST 3 Seadd feig ur yaidl 9 Sere sl 3 Widd 8l Siiar 8 30k ud T Seater
=u 3 oA Brar 3 yardt Rig A gerr wis @si BRen ? (g = 10 m/s?)

[Question ID = 114][Question Description = 114_23_PHY_SEP22_Q14]

1. 500 m

[Option ID = 453]
2. 1000 m

[Option ID = 454]
3. 1500 m

[Option ID = 455]
4. 2000 m

[Option ID = 456]

15) Three particles, each of mass m, are situated at the vertices of an equilateral triangle ABC of side
L as shown in fig. The moment of inertia of the system abeut the line AXin the plane of ABC will

be,

T ST foH W% H1 500 m § 99eTg B ABC & v R & st gy L 2 S
e o= o femn 71 81 ABC & w909 § AX W@ TR WO &1 w5 ot 5T 2

X

L
[Question ID = 115][Question Description = 115_23_PHY_SEP22_Q15]
1. 3 mL?

[Option ID = 457]
2. 2mlL?

[Option ID = 458]
3. 3mL%/2

[Option ID = 459]
4. 5mL2/4

[Option ID = 460]

16) The wheel of a motor, accelerated uniformly from rest, rotates through 2.5 radian during first second. Find the angle
rotated during next second.

g dHic @l ufdan e sraven A caf¥a ia: usd Ads & safy 3 2.5 radian A gofa Alar 3 g ADs D SRIel $ADT Yool DIVT a=aT Berr ?
[Question ID = 116][Question Description = 116_23_PHY_SEP22_Q16]
1. 2.5rad

[Option ID = 461]
2. 7.5rad

[Option ID = 462]
3. 10rad



[Option ID = 463]
4. 12.5rad

[Option ID = 464]

17) A stone is thrown vertically upward from the surface of earth. The correct representation of the v-t
graph during the entire journey will be,

YTOE § TF TRR JUlR Y § SR B AR HH1 96 8 59 SO0l 75T F SR v-t T F
=g g 2

W

(b}

(d)

N

[Question ID = 117][Question Description = 117_23_PHY_SEP22_Q17]
1. (d)

[Option ID = 465]
2. (c)

[Option ID = 466]
3. (b)

[Option ID = 467]
4. (a)

[Option ID = 468]

18) Work done in raising a mass m from surface of the earth to a height h=R (R is the radius of the earth) will be,
gedl &l s A geerel m @ s ol Sarg h = R (gedt & foszn R) ab 3oror 3 s srn Rt don ?

[Question ID = 118][Question Description = 118_23_PHY_SEP22_Q18]

1. 2 mgR

[Option ID = 469]
2. mgR

[Option ID = 470]
3. mgR/2

[Option ID = 471]
4. mgR/4

[Option ID = 472]

19) Calculate the time period of a simple pendulum of length 1m. Acceleration due to gravity at the place is 72 m s2,
1 m ciearé el ARG clicid bl HIRI sl B s1vren BIRIE Safds 3 FeIrel U2 JRscarddur d BRUI cavl 72 m s2 3§

[Question ID = 119][Question Description = 119_23_PHY_SEP22_Q19]
1. 1s

[Option ID = 473]
2. 25



[Option ID = 474]
3. 3s

[Option ID = 475]
4. 45

[Option ID = 476]

20) The three vessels shown in fig. have same base area Equal volumes of a liquid are poured in
three vessels. The force on the base will be,

Jr2 fam o 2= & ot o= B 7w € e SNUR &7 AT 9EH B 59 O OE § TH angae =
59 ST o1l &1 STYR T8 9T 99 8-

\ \
/L /N
A B C

[Question ID = 120][Question Description = 120_23_PHY_SEP22_Q20]
1. equal in all vessels

J19ft urelf 9 3mIeT
[Option ID = 477]
2. maximum in vessels C

ur], -C 3t siferaar

[Option ID = 478]
3. maximum in vessel B

ur] - B 3 siférest

[Option ID = 479]
4. maximum in vessel A

ur] -A 3 siferaee
[Option ID = 480]

21) A load of 4.0 kg is suspended from a ceiling through a steel wire of radius 2.0 mm. Find the tensile stress developed in
the wire when equilibriums is achieved. (g = 3.1z ms2)

o 2.0 mm s arel s3urd @ dr A 4 kg @I 4R &d A Ce®RI SIIAl § AR B By 3 ar @ gyt sia Sk (g = 3.1z ms2)

[Question ID = 121][Question Description = 121_23_PHY_SEP22_Q21]
1. 3.1 x 108 N m2

[Option ID = 481]
2. 3.1x10¢Nm?2

[Option ID = 482]
3. 3.17x 106 N m2

[Option ID = 483]
4. 3.1t x 10N m2

[Option ID = 484]

22) A 0.02 cm of liquid balances the excess pressure inside a soap bubble of radius 7.5 mm. Determine the density of the
liquid. (Take surface tension of soap solution = 0.03 N m-!, g= 10 m s2)

0.02 cm @I gg AIgel @ 7.5 MM {1 D Tb geagel @ 3062 D AT g/ Dl Adferd D1 8 g Pl Holed S DIfSIe (Aol faferIel w1
yss et = 0.03 Nm™', g= 10 ms?2)

[Question ID = 122][Question Description = 122_23_PHY_SEP22_Q22]
1. 8x102kg m3

[Option ID = 485]
2. 8x 103 kg m3

[Option ID = 486]
3. 4x102kg m3

[Option ID = 487]



4. 4x 103 kg m3
[Option ID = 488]

23) Fig. shows a string of linear mass density 1 g cm! on which a wave pulse is travelling. Find the
time taken by the pulse in traveling through a distance of 50 cm on the string. (g = 10 m 572

Jo Rumu fom 7 1 g om' & Y% goF 9@ & US Yo § au g Vaifed BT &1 59 TELH 50
cm @1 gdt # 98 e & yalled & H fear gra @im 2 (g = 10 ms2)

-~

1kg
[Question ID = 123][Question Description = 123_23_PHY_SEP22_Q23]
1. 55

[Option ID = 489]
2. 0.5s

[Option ID = 490]
3. 0.05s

[Option ID = 491]
4. 0.005 s

[Option ID = 492]

24) A source and a detector move away from each other, each with a speed of 10 m s™! with respect to ground with no
wind. If the detector detects a frequency 1980 Hz coming from the source, what is the original frequency of the source?
(Velocity of sound = 340 m s™")

s Fid 30 Fgaw 10 ms™! &t arer 3 v g A 31 A I 3 i Ads W arg ol 3 Al Fgaw, P A a6l arclt 1980 Hz & sigfer
R @wrar 3 dl Y b et gl an 3 ? (safsr o1 de1 = 340 ms’')

[Question ID = 124][Question Description = 124_23_PHY_SEP22_Q24]
1. 2287 Hz

[Option ID = 493]
2. 1867 Hz

[Option ID = 494]
3. 1980 Hz

[Option ID = 495]
4. 2100 Hz

[Option ID = 496]

25) A pan filled with hot food cools from 94°c to 86°C in 2 minutes when room temperature is 20°c. How long it will take to
cool from 71°c to 69°c?

sirser uerel A 31 ues ure 2 fBiere 3 949C A 860C S31 diar 2, S e @ araaret 200C 3 53 719C 3 699C aw ST Blot 3 Rodsi JIRT cPIeI
?

[Question ID = 125][Question Description = 125_23_PHY_SEP22_Q25]

1. 425

[Option ID = 497]
2. 420s

[Option ID = 498]
3. 84s

[Option ID = 499]
4. 840s

[Option ID = 500]

26) lIsothermal process is characterized by,



Harardir gaper &t frdrerer 3 ?
[Question ID = 126][Question Description = 126_23_PHY_SEP22_Q26]
1. No heat flow between the system and the surroundings

forprr 3l uf¥der @ dia @I am v ol diar &

[Option ID = 501]
2. Volume remain constant

3IRIcTol 3eRic 8lar &
[Option ID = 502]
3. Pressure remain constant
o1q Reric alar 2
[Option ID = 503]
4. Temperature remain constant
au BeRid aidar 3
[Option ID = 504]

27) A carnot engine operates with hot reservoir at temperature T, and cold reservoir at temperature T1. Its efficiency is
given by,

UMD Ploll ool AUl T2 @ ItH 3SRUI 37 drueret T @ ofia sisrur ur Faifera & sadl orRI grerar aell ?

[Question ID = 127][Question Description = 127_23_PHY_SEP22_Q27]
Tﬂ - T
1. 22 11

T,

[Option ID = 505]
2. BT

T
[Option ID = 506]
T,—T,

Ty

[Option ID = 507]
Tl - T:!_
T,

[Option ID = 508]

28) A flask contains argon and chlorine in the rates 2:1 by mass. The temperature of the mixture is 27°c. The ratio of
r.m.s. speed of the two great, Var/ V¢ will be, (Atomic mass of argon = 39.9u, molecular mass of chlorine = 70.9 u)

U Tl 3 3MPiol 3R TClRiol & ool @1 siguid 2:1 3 31 RI9JUT BT arudret 27°C 8 ol Gloll 311 I r.m.s. ara I 3ielurd Var/Vc| 391 ¢
(3metet @1 usvIfde gerpiel 39.9 u, dciidlol @I vifde geEma = 70.9 u)

[Question ID = 128][Question Description = 128_23_PHY_SEP22_Q28]
1. 70.9/39.9

[Option ID = 509]
2. 39.9/70.9

[Option ID = 510]
3. /709/39.9
[Option ID = 511]

4. /39.9/70.9

[Option ID = 512]

29) Charge 100 C is to be divided into two parts and placed at certain distance. What should be the values of the two parts
so that the force between them is maximum?

100 C @ smaer @l Q1 {3 faenfSia wad foif2aa ¢ft uz 331 RN 8 Sl Slell MRl & &l siferada el @ 1Y Sold AT DI ATl T=AT Bloll
wifge ?

[Question ID = 129][Question Description = 129_23_PHY_SEP22_Q29]
1. 99Cand1C

[Option ID = 513]



2. 75Cand 25 C

[Option ID = 514]
3. 60 Cand 40 C

[Option ID = 515]
4. 50 Cand 50 C

[Option ID = 516]

30) Fig. shows some of the electric field lines corresponding to an electric field. We can say about the
electric field at points A, B and C that.

e fag g fom & 3oy 47 F 1y $© dog0 47 W € TS §1 89 A, Bl ¢ fégelt W dgga
EFendaa ged s ?

[Question ID = 130][Question Description = 130_23_PHY_SEP22_Q30]
1. Ea> Eg> Ec

[Option ID = 517]
2. EA=Eg=Ec

[Option ID = 518]
3. En=Ec<Ep

[Option ID = 519]
4, En=Ec>Ep

[Option ID = 520]

31) A charge Q is distributed uniformly on a ring of radius r. A sphere of equal radius is constructed
with its cenire at the periphery of the ring as shown in fig. Find the total flux of electric field
through the surface of the sphere.

b FTm i o TR End icin froom s v R Rt mitsd tomm 2
aom @t Uiy & 598 $5 & 9 99 B & us arar B few wa 81 59 a5 0y 8 g
#20d &9 51 pa s 79 iy 2

ring

sphere

[Question ID = 131][Question Description = 131_23_PHY_SEP22_Q31]
1. Zero

S

[Option ID = 521]
2. Q/3¢p

[Option ID = 522]
3. Q/2¢

[Option ID = 523]
4. Q/e

[Option ID = 524]



32) A hollow conductor, nonspherical in shape given some amount of charge (see fig). We now
consider two small portion of the conductor and assume them spherical having radius ry and rp
and charge densities ¢4 and 0,. Then the ratio o4/ oo will be,

U% Stg 1ER & Ol ove # 5s s gl Rt it s iRy e s s @
U &1 A TG & [ S0 U Tig 4w B 59 g SR A o4 § SR gEY H B A
e 1o 3% 3199 0, 81 6 0/ 0, ST BHT -

[Question ID = 132][Question Description = 132_23_PHY_SEP22_Q32]
1. rp/rq

[Option ID = 525]
2. 11/

[Option ID = 526]
3. (r1/1rp)?

[Option ID = 527]
4. VI fra

[Option ID = 528]

33) The machine van de Graaff generator is used for producing,
ds S I Stolkez Aol f[ipa <iier @ Icurca @ fere yIIeT &l Siiedt & ?

[Question ID = 133][Question Description = 133_23_PHY_SEP22_Q33]
1. Isotope

Jerzefors

[Option ID = 529]
2. Electric Power

Jege arfep

[Option ID = 530]
3. a-particles

QA -pur

[Option ID = 531]
4. large electrostatic potential difference

forqa Jgadifer fasaiar
[Option ID = 532]

34) Three capacitances of 6 puF each are available. The minimum and maximum values of capacitance which may be
obtained are respectively,

it Jarentean, SeEl g 6 PF &I 8, Iucretl & soldl A9 ooldd 3112 M ad JALMIIAT ATl Yrd fop=ar i1 Amar & ?

[Question ID = 134][Question Description = 134_23_PHY_SEP22_Q34]
1. 6 pF, 18 pF

[Option ID = 533]
2. 2 pF, 18 pF

[Option ID = 534]
3. 3 yF, 12 pF

[Option ID = 535]
4. 2 yF, 12 uF

[Option ID = 536]



35) The ammeter shown in the circuit given below consists of 480 O coil connected in parallel to a 20
€ shunt. The reading of the ammeter will be.

2 far o ofoy F oe iR R mar 2 o 480 0 F Sl S OmiR T H 20 0 F U
& Y SIS T B | e S Ue B -

AT { A )

140.80

|
20v

[Question ID = 135][Question Description = 135_23_PHY_SEP22_Q35]
1. 0.125A

[Option ID = 537]
2. 1.25A

[Option ID = 538]
3. 0.142 A

[Option ID = 539]
4. 1.42 A

[Option ID = 540]

36) Find the equivalent resistance of the network shown in fig. between the points aand b

2 fem o fim # 85 a 3w b & o9 o1 Tuges vity Ti9 S 2

[Question ID = 136][Question Description = 136_23_PHY_SEP22_Q36]
1. 4r

[Option ID = 541]
2. r/4

[Option ID = 542]
3. 3r

[Option ID = 543]
4. r/3

[Option ID = 544]

37) Find the charge accumulated on the capacitor shown in the circuit

2 2=y Mo afrey F SRy | dfEa smem 3a Sl

12 pF
| 1

I

TRAAA Wi
100 200

v



[Question ID = 137][Question Description = 137_23_PHY_SEP22_Q37]
1. 8pC

[Option ID = 545]
2. 24 uC

[Option ID = 546]
3. 12 pC

[Option ID = 547]
4. Zero

S
[Option ID = 548]

38) A current of 10.0 nA is established in a circular loop of radius 5.0 cm. The magnetic dipole moment of the current loop
will be,

5.0 cm fesan arer garmr urer d 10.0 nA o1 e yarfda & sicdl 3 31 ufvuer urer &1 geadbra fhega st gom -

[Question ID = 138][Question Description = 138_23_PHY_SEP22_Q38]
1. 7.85x 10712 A m?

[Option ID = 549]
2. 7.85x 10" Am?

[Option ID = 550]
3. 7.85x 1010 A m2

[Option ID = 551]
4. 7.85x10° Am?

[Option ID = 552]

39) The magnetic susceptibility is negative for,
gadRI sgurelieran foprd fere spuncas & ?
[Question ID = 139][Question Description = 139_23_PHY_SEP22_Q39]

1. Paramagnetic materials
310} goachIl ucref
[Option ID = 553]

2. Diamagnetic materials
& gadbier ueref
[Option ID = 554]

3. Ferromagnetic materials
cils gachir uoref
[Option ID = 555]

4. Paramagnetic and ferromagnetic materials
So[gedRI 3iRR cile gacbrRr ucrel
[Option ID = 556]

40) An average induced emf of 0.2 V appears in a coil when the current in it is changed from 5.0 A is one direction to 5.0
A in the opposite direction in 0.2 s. The self-inductance of the coil will be

g @il 3 0.2 V &l siizra emf gf¥a 8l 3 aa 5 A &I arr v fGom A ¢l Ron 3 ulvafdfera dot d 0.2 s ol 3, dl @scll @1 FafRwea
gl

[Question ID = 140][Question Description = 140_23_PHY_SEP22_Q40]
1. 4.0x103H

[Option ID = 557]
2. 40x10%H

[Option ID = 558]
3. 2.0x103H

[Option ID = 559]
4. 2.0x104H

[Option ID = 560]



41) An inductor of inductance 50 mH is in series with a resistance, a variable capacitance and an AC source of frequency
2.0 kHz. What should be the value of the capacitance so that the current is maximum? (Take n2=10)

3if2resTust @1 b YRH @l arclt 50 mH v gferier & rer gfaen # 3, v arre dURMEA 3z ngfa 2.0 kHz @1 v w 2l Jpa 3 enfear o1
JTol =T Bl anfde RRIA et siferaa 317 (n2=10 di)

[Question ID = 141][Question Description = 141_23_PHY_SEP22_Q41]
1. 6.3 nF

[Option ID = 561]
2. 63 nF

[Option ID = 562]
3. 12.5nF

[Option ID = 563]
4. 125nF

[Option ID = 564]

42) How much energy is carried by each photon in a 5 mW Laser source operating at 663 nm? (h =6.63 x 1034 J, c =3 x
108 m s™)
663 nmuz 5 MW @ AR Jid D YAD BICe 3 foeroll Hott yarfda &t siredt 3 ? (h =6.63 x 1034 J, c=3 x 108 m ™)

[Question ID = 142][Question Description = 142_23_PHY_SEP22_Q42]
1. 3x 10718

[Option ID = 565]
2. 3x1019)

[Option ID = 566]
3. 3x 1020

[Option ID = 567]
4. 3x1021)

[Option ID = 568]

43) For hydrogen atom, the radius of first orbit is called Bohr radius, ap. For hydrogen like ion with Z protons, the radius of

the nth orbit will be,

BIs3ISIol URHAIY] D YU g Dl fosar ol dis2 fsar ag el Sier & Z g)eroll Afdd IRl @ sI53lslol @ Nd a8l & = detl :
[Question ID = 143][Question Description = 143_23_PHY_SEP22_Q43]

1. nag

[Option ID = 569]
2. nag/Z

[Option ID = 570]
3. nap/Z?

[Option ID = 571]
4. nZag/Z

[Option ID = 572]

44) Calculate the binding nergy of an alpha particle form the following data

Mass of 1H = 1.007825 u
Mass of neutron = 1.008665 u
Mass of of 1He = 4.00260 u

And 1 u=931 MeV c?

FrofafaT sies sow S0 S &9 Fel 31 70 S :
1H %1 5oaH 1.007825 u

S I Go0HA = 1.008665 u

1He %1 GO0HH = 4.00260 u

R 1u=931 MeV c?

[Question ID = 144][Question Description = 144_23_PHY_SEP22_Q44]
1. 28.3 MeV

[Option ID = 573]



2. 7.08 MeV

[Option ID = 574]
3. 28.3eV

[Option ID = 575]
4. 7.08 eV

[Option ID = 576]

45) An object of length 6 cm is placed perpendicular to the principal axis of a convex lens of focal length 12 cm. Find the
size of the image if the object is at distance of 8 cm from the lens.

12 cm BIA ¢ D Idel oA D JIR A& D cigad 6 cm s DI avg il SIiedl 8 Al avg A i &bl gt 8 cm 2 A gfeifda @I R sira
HifSre

[Question ID = 145][Question Description = 145_23_PHY_SEP22_Q45]
1. 18 cm

[Option ID = 577]
2. 2cm

[Option ID = 578]
3. 28.8cm

[Option ID = 579]
4. 1.25cm

[Option ID = 580]

46) The wavelength of light coming from a source is 600 nm. What will be its wavelength if it enters a transparent medium
of refractive index 1.5?

I A 31T W YpI9I DI a1 o&f 600 nm 3 AfS A8 sruadol Famicd 1.5 d uRGoll A 3 Y9I Bdl & dl 3ADI ddIGeRd gl glom ?
[Question ID = 146][Question Description = 146_23_PHY_SEP22_Q46]
1. 600 nm

[Option ID = 581]
2. 900 nm

[Option ID = 582]
3. 400 nm

[Option ID = 583]
4. 300 nm

[Option ID = 584]

47) A parallel beam of light of wavelength 450 nm passes through a long slit of width 0.2 mm. Find the angular divergence
in which most of the light is diffracted.

450 nm @za1 ek b1 v JdHiaR Yap19r Gt 0.2 mm dist Bt (3xar f5g) A yaifda foven sirar 3 ag wwvfia faader sa Hifsie el siftraasr
gapT1or 3ruAITd BXer 3 ?

[Question ID = 147][Question Description = 147_23_PHY_SEP22_Q47]
1. 2.25x 103 rad

[Option ID = 585]
2. 45x103 rad

[Option ID = 586]
3. 2.25x 102 rad

[Option ID = 587]
4. 45x 102 rad

[Option ID = 588]

48) ldentify the characteristics of emitter in a n-p-n transistor.
U N-p-n cifSe: 3 Iasiao o fdrsedarsii & usarer Hifse ?

[Question ID = 148][Question Description = 148_23_PHY_SEP22_Q48]
1. Very thin and lightly doped

sifergfier 3l aeapt forfssia



[Option ID = 589]
2. Larger in size and moderately doped

3MPR 31 o 3l et 3R W fomifsera

[Option ID = 590]
3. Larger in size and lightly doped

3R I fered ik el fowpifssra

[Option ID = 591]
4. Moderate in size, heavily doped

R PR 3i2 el foafssia

[Option ID = 592]

49) The name of the first nuclear reactor constructed in India is
Rd 3 forfdfa gerar onfirbir RRracs o1 o= omar 8 ?

[Question ID = 149][Question Description = 149_23_PHY_SEP22_Q49]
1. CIRUS
2AS2A

[Option ID = 593]
2. APSARA
3IRRT

[Option ID = 594]
3. DHRUVA
ga

[Option ID = 595]
4. PURNIMA
yfofar

[Option ID = 596]

50) A message signal of 10 kHz and peak voltage of 10 V is used to modulate carrier frequency 1 MHz and peak voltage 20
V. Determine side bands produced.

10 kHz & 391 3idaa iz 10 V &l rdica dicedr o1 Iu=iet 1 MHz &bt sigfer 3iiz 20 V &t wdica dicear & ArzIcle @ fore gyep s siran
& s3A sculfea ured ds @l i $ifsig ?

[Question ID = 150][Question Description = 150_23_PHY_SEP22_Q50]
1. (1000 + 10 x 2) kHz
[Option ID = 597]
2. (1000 + 10) kHz
[Option ID = 598]
3. (1000 + 10v2) kHz
[Option ID = 599]
4. (1000 + 10) kHz

[Option ID = 600]

Topic:- PCBO1_Chemistry

1) Which one of the following is an example of adsorption?
forgarfeiRaa 3 A dlat sif2r9nvuT 1 I5IEVT 3?7

[Question ID = 151][Question Description = 101_40_CHE_SEP22_QO01]
1. Silica gel in contact with water vapours.

SIeT arca @ Auds 3 Bifetet Sier

[Option ID = 601]
2. Ammonia in contact with water.

SieT @ AU 3 eiform

[Option ID = 602]
3. Anhydrous CacCl; in presence of water vapour



Stetary bt 3uferfer 3 g CaCly

[Option ID = 603]
4. CaCOjs in contact with water

Sier & 2iues 3 CaCO3
[Option ID = 604]

2) The function of catalyst in a Chemical reaction is to
IARIfoI® 3ifdifipn d ScR® @1 ORI 3 :

[Question ID = 152][Question Description = 102_40_CHE_SEP22_Q02]
1. Reduce enthalpy of reaction

sifdifepR bt vdlctt ol aeron

[Option ID = 605]
2. Decrease rate constant of reaction

sifdtfepRm @& o1 FeRics Bl Tcton

[Option ID = 606]
3. Increase activation energy of reaction

SifdrfepRm @ iaparor Jeif B aGTol

[Option ID = 607]
4. Does not affect the equilibrium constant of a reaction

sifdrfper @ g1 BerRic o yenfdd ofdl waar

[Option ID = 608]

3) In van der waal equation, constant 'b' is introduced to compensate for:
aiszarc Ffioror # Reric 'b' o1 IwRer ------- &l sRuré o ferg fopam sirer 3

[Question ID = 153][Question Description = 103_40_CHE_SEP22_QO03]
1. force of repulsion

yferapur aect

[Option ID = 609]
2. Specific heat

faforse e

[Option ID = 610]
3. Force of attraction

3IrepHuT get

[Option ID = 611]
4. total volume occupied by molucule

MU GIRT AT SRIT el 3IRIcAol

[Option ID = 612]

4) The solution in which, the concentration of H30* remains constant even when small amounts of strong acid or strong
base are added to them. These solutions are known as:

forerret foreret H30* &bt igar R3er &t 3, sier &t Soral oSt Ay 3 gadt 33 A1 gyad &R et & sie $ot frerisil ot @al Sirar 3 :

[Question ID = 154][Question Description = 104_40_CHE_SEP22_Q04]
1. Ideal solution

argef ferIer

[Option ID = 613]
2. Colloidal solution

Dlciiss! fderror

[Option ID = 614]
3. True solution

Jrcan faerIe

[Option ID = 615]



4. Buffer solution
T3 fdcrror

[Option ID = 616]

5) Find the temperature at which K, = K_; of the given equilibrium reaction N,0,(g) = 2NO,(g)

T 10 T %X 1o W K, = K, 3R & 7S g i N, 0, (g) = 2N0,(g) B

[Question ID = 155][Question Description = 105_40_CHE_SEP22_Q05]
1. 273K

[Option ID = 617]
2. 121.8K

[Option ID = 618]
3. 12.18K

[Option ID = 619]
4. 1.218K

[Option ID = 620]

6) For a chemical reaction, CO (g} + 3H,(g) = CH,(g) + H,0(g) at equilibrium the amount of producis formed are
affected by

@ e fifFT & 0 co (g) + 3H,(g) = CH, (g) + H,0(g) TTRIERI T, 4 Id1E & 9F A41fad &rfl

[Question ID = 156][Question Description = 106_40_CHE_SEP22_Q06]
1. Temperature

a3y

[Option ID = 621]
2. Pressure

ol A

[Option ID = 622]
3. Temperature and pressure

" i gra A

[Option ID = 623]
4. Temperature, pressure and catalyst

A, oId 3 3D A
[Option ID = 624]

7) Which of the following are Intensive properties?
A. boiling point

B. entropy

C. pH

D. internal energy

forgaiferRaa 3 A ®lot s18al VT 3:

A. Tagstic

B. wocrdl

C. pH

D. staf¥e et

oiil feu are faweal 3 A Al IR ol ©

[Question ID = 157][Question Description = 107_40_CHE_SEP22_Q07]
1. A, BandD only



@aer A, B iz D

[Option ID = 625]
2. Aand Conly

Dact A iz C

[Option ID = 626]
3. Band Conly

@act B aik C

[Option ID = 627]
4. A,B,CandD

A, B, Caiz D
[Option ID = 628]

8) The rate constant of a first order reaction is k = 2.5x10"'*sec™!. Find the half-life for the reaction.
Y @ife bI i wr de1 Berics k = 2.5x10 14 sec' 3 aifiifipam &bt sref- 3Ry st Hifstg

[Question ID = 158][Question Description = 108_40_CHE_SEP22_Q08]
1. 2.77x103 sec

[Option ID = 629]
2. 2.77x10"13sec’!

[Option ID = 630]
3. 2.77x10"sec

[Option ID = 631]
4. 2.77x10 " sec™!

[Option ID = 632]

9) For the completion of 99.9% of the reaction in a first-order reaction, the time required will be how many times the half-
life of the reaction.
gad @ife &l siftifagar 3 99.9% sififcpr ®I g1 w6l @ fo1u magacd AIRT BRI DI 31g-31R] BT e 36l aPT

[Question ID = 159][Question Description = 109_40_CHE_SEP22_Q09]
1. 5 times

5 3ot

[Option ID = 633]
2. 10 times

10 3pom

[Option ID = 634]
3. 2 times

2 3ol

[Option ID = 635]
4. Time required is independent of the half-life

SMAYRID IWRI 3L -3 A I, 3
[Option ID = 636]

10) If the sum of two redox couples is positive, then the Gibbs energy change will be:
AfS <1 ISiaa SISI &I AP eellcdid 3, dl e it uf¥acde dem:

[Question ID = 160][Question Description = 110_40_CHE_SEP22_Q10]
1. Positive

Eollcdd

[Option ID = 637]
2. Negative

SBUIICHD

[Option ID = 638]
3. Neutral

3crflor



[Option ID = 639]
4. Cannot be defined

uf¥enfie ol bt o At 3
[Option ID = 640]

11) By significant changes in pressure, solubility of solids in liquids
g 3 sAecayvl uf¥ade A, aver ucrelf 3 311 &I gerorofiemr.......

[Question ID = 161][Question Description = 111_40_CHE_SEP22_Q11]
1. Increases

ool

[Option ID = 641]
2. Decreases

Tesft

[Option ID = 642]
3. Can either increase or decrease

fc T 46 A 3

[Option ID = 643]
4. Remains unaffected

smuf¥afefa 33oft
[Option ID = 644]

12) If the solubility product of Mg{OH), is 2 X 107* at 298K, then the solubility in mol /dm? at 298K s

afg 298 K T Mg(0H), F1 FEeaal T 2 x 101181 &1 298K T Reat mol /dm® H & -

[Question ID = 162][Question Description = 112_40_CHE_SEP22_Q12]
1. 248 x107* mol /dm?®

[Option ID = 645]
2. 171 % 10~* mol/dm?

[Option ID = 646]
3171 % 107% mol /dm?

[Option ID = 647]
4. 347 x10°* mol /dm?

[Option ID = 648]

13) Select the correct statement about valence band.
IFASIP I3 D aR 3 Bl DA PI <RI DI :
[Question ID = 163][Question Description = 113_40_CHE_SEP22_Q13]
1. It is the lowest energy occupied band
g AR DA Joll Alell IRT 4 8

[Option ID = 649]
2. The band may be empty or partially filled only

s arctt = 3rifors Fu A & 91T Bl Ak &

[Option ID = 650]
3. The band is formed by a series of energy levels containing valence electrons

s Il IRI DI v Il GRI Toldl & ORI IRMSID seldgiol Bl 3

[Option ID = 651]
4. The band should be completely filled always

s adton g3 @6 A IRI Sloll AIfde
[Option ID = 652]

14) What are the conditions for gas like nitric oxide to obey the ideal gas laws?



3rcof 3121 formel @I Ulctol w0l d foru s sifararss Sixl 3 @ fére o= ord 37

[Question ID = 164][Question Description = 114_40_CHE_SEP22_Q14]
1. high temperature and low pressure

3ca am 3R fower gr@

[Option ID = 653]
2. low temperature and high pressure

forgor ama 3iR 3ca gr@

[Option ID = 654]
3. low temperature and low pressure

forrol ama 3iiR forFor gra

[Option ID = 655]
4. high temperature and high pressure

3cd am 3R 3<d g1

[Option ID = 656]

15) The standard reduction potential of Ni2*|Ni, Fe3*|Fe and Ag*|Ag are -0.25 V, 0.77 V and 0.8 V respectively. The
following cells were constructed
(i) Ni|NiZ* | | Fe3*|Fe

(i) Ni[NiZ* | | Ag*|Ag
(iii) Fe| Fe3* || Ag*|Ag

What is the correct order of E°¢( of these cells?

NiZ*|Ni, Fe3*|Fe siiz Ag*| Ag ® airerad siuerrel fasa apgrer: -0.25 V, 0.77 V 3iiz 0.8 V & Reifei3ae et w1 foraior fope sri :
(i) Ni[NiZ* | | Fe3*|Fe

(i) Ni[Ni2* | | Ag*|Ag

(iii) Fe| Fe3* | | Ag*|Ag

%ol Achl D E°ce(| D1 I8 ot a=mr 37

[Question ID = 165][Question Description = 115_40_CHE_SEP22_Q15]

. (i)> (ii)> ()
[Option ID = 657]

2. (i)>(i)(>ifi)

1

[Option ID = 658]
3. (i)>(ii)>(iii)

[Option ID = 659]
4. (iii)>(i)>(i1)

[Option ID = 660]

16) In a closed-packed array of A spheres, the number of tetrahedral holes are
A sl @ forfars JAqgfera wevfl 3, agowerdbia Rfepl &bt iz akdl 3

[Question ID = 166][Question Description = 116_40_CHE_SEP22_Q16]
1. A/ 2

[Option ID = 661]
2. A

[Option ID = 662]
3. 2A

[Option ID = 663]
4. 4A

[Option ID = 664]

17) Maximum deviation from ideal gas is expected from:



sircof 3t A siférasaa foractor srafara 3 :

[Question ID = 167][Question Description = 117_40_CHE_SEP22_Q17]

1. H;

[Option ID = 665]
2. Ny

[Option ID = 666]
3. Ar

[Option ID = 667]
4. NH3

[Option ID = 668]

18) Which one the followings is thermally most stable carbonate?
forratferRaa # A dler-a1 ardlz wu A Faiftrs Ferfl oelc 37

[Question ID = 168][Question Description = 118_40_CHE_SEP22_Q18]
1. MgCOs

[Option ID = 669]
2. CaCO;

[Option ID = 670]
3. SrCOs3

[Option ID = 671]
4. BaCOs3

[Option ID = 672]

19) The magnetic properties of manganate and permanganate ion are:
Jstolc 3z URHAToIT RISl & b T 3:
[Question ID = 169][Question Description = 119_40_CHE_SEP22_Q19]
1. Both are paramagnetic
Gloll 3iofeaddi &
[Option ID = 673]
2. Both are diamagnetic
[Option ID = 674]
3. Diamagnetic and paramagnetic respectively
I9L: YferahRI 3R SIofgerbRI
[Option ID = 675]
4. Paramagnetic and diamagnetic respectively
I oJgehRI iR gferdeadbin
[Option ID = 676]

20) Magnetite is
divolerse 3!
[Question ID = 170][Question Description = 120_40_CHE_SEP22_Q20]
1. Ferromagnetic
S
[Option ID = 677]
2. Ferrimagnetic
Bgadlr
[Option ID = 678]
3. Diamagnetic
glergerebter
[Option ID = 679]
4. Paramagnetic



Srofgerber
[Option ID = 680]

21) Which of the following process is not a physical process of separation?
forraiferRaa 3 A ®ler-H yfdgzn geramur &t siifere yfepgam orél 37

[Question ID = 171][Question Description = 121_40_CHE_SEP22_Q21]
1. Hydraulic washing

gler emaor

[Option ID = 681]
2. Magnetic separation

JabRI geraamur

[Option ID = 682]
3. Leaching

forgtretot

[Option ID = 683]
4. Froth floatation

ol teTdol

[Option ID = 684]

22) Square-planar geometry is shown by:
aof J3racht Senfdifer fopardt & -

[Question ID = 172][Question Description = 122_40_CHE_SEP22_Q22]
1. [NiClg]?

[Option ID = 685]
2. Crog

[Option ID = 686]
3. MnOg4

[Option ID = 687]
4. [PtCla(NH3)2]

[Option ID = 688]

23) Which of the following pair is expected to have the same bond order?
forgoifeiRaa & A fovar SISt A JHTeT 3iraoer mife 3?7

[Question ID = 173][Question Description = 123_40_CHE_SEP22_Q23]

1. 027, Ny

[Option ID = 689]
2. O, Np*

[Option ID = 690]
3. 0", Ny

[Option ID = 691]
4. 02, N;

[Option ID = 692]

24) How many isotopes of Hydrogen found in nature?
gapie # arEgisiel @ [dbdol AIAfGID UIT SN 37

[Question ID = 174][Question Description = 124_40_CHE_SEP22_Q24]
1. 1

[Option ID = 693]
2.2

[Option ID = 694]
3.3

[Option ID = 695]
4. 4



[Option ID = 696]

25) Assertion: Intermolecular force of attraction is higher in HF than HCI.
Reason: The boiling point of HF is higher than that of HCI.

In light of the above statements, choose the most appropriate answer from the options given below

il St perel fRu 51w 31 uap Bt sifdrperet (A) 3iiR gIR @Y aas (R) @ar srI 3
sifdrperet (A) : HF 3 siar - srupes smresdur et HCI &t getent & swrer diar 8
a® (R) : HF o1 aaereticc HCI &bt geton 3 sif2re aiar 3
SWRTh DUl B 3rciled 3 forvotifepa farpedl 3 21 A8 I= goi ¢
[Question ID = 175][Question Description = 125_40_CHE_SEP22_Q25]
1. Both A and R are correct and R is the correct explanation of A

(A) 3z (R) clell 2@t & 3l (R), (A) &I &l caren &

[Option ID = 697]
2. Both A and R are correct but R is NOT the correct explanation of A

(A) stz (R) il 31t 8 udog (R), (A) & 3 wmen o8t 8

[Option ID = 698]
3. Ais correct but R is not correct

(A) 2t 8 weog (R) et ot &

[Option ID = 699]
4. Ais not correct but R is correct

(A) o o1l 3 wroq (R) 2t &
[Option ID = 700]

26) Boron shows diagonal relationship with:

di3for faauf Feier fozarar 3-
[Question ID = 176][Question Description = 126_40_CHE_SEP22_Q26]
1. Mg

[Option ID = 701]
2. Al

[Option ID = 702]
3. Si

[Option ID = 703]
4, P

[Option ID = 704]
27) The magnetic property of superoxide is/are
A. Diamagnetic
B. Paramagnetic
C. Antiferromagnetic

Choose the correct answer from the options given below:

JusiiaRarss @I gadbRI agur 3/3 ©

A. gferdadra

B. sroqdecdbRa

C. yftrciisgadia

ofid fou o1 et 3 A A8t 3T gl ¢

[Question ID = 177][Question Description = 127_40_CHE_SEP22_Q27]
1. Aonly



Dact A

[Option ID = 705]
2. Bonly

Dact B

[Option ID = 706]
3. Aand Conly

Dact A siiz C

[Option ID = 707]
4. Aand B only

Dact A iz B
[Option ID = 708]

28) Assertion: [SiFg]? is unstable but [SiClg]% is not known.
Reason: Six large fluoride ions cannot be accommodated around Si**.

In light of the above statements, choose the most appropriate answer from the options given below

oflaX S perel fRu s1e 3@ uap Bt sifdrperet (A) 3iiR gIR @Y ads (R) @ar sRI 3
sifirerst (A) : [SiFe]? arwerns dien 3 aifdper [SiCle]? et ordl 3

ads (R) : 86 a3 GARIES Rl @1 Si* @ urt AARIGE oiél Rown s arwar 3
SWTh DUl B 3rcild A forotifepa farpedl 3 A A8 = goi ¢

[Question ID = 178][Question Description = 128_40_CHE_SEP22_Q28]
1. Both A and R are correct and R is the correct explanation of A

(A) iz (R) ol 3t & 3iR (R), (A) &I 3 =z 8

[Option ID = 709]
2. Both A and R are correct but R is NOT the correct explanation of A

(A) stz (R) cloll 31t 8 udog (R), (A) & 3 wimeen o8t 8

[Option ID = 710]
3. Ais correct but R is not correct

(A) 2t 8 weog (R) et ot &

[Option ID = 711]
4. Ais not correct but R is correct

(A) ot o1l 3 wroq (R) 2t &
[Option ID = 712]

29) Consider the following:

A. [NiCl4]*

B. [Ni(CO)4]

C. [CoF¢]*

D. [Ni(CN)4]*

Choose the correct option for a spin free complex
foraifiRaa @ earor 3 T gu

A. [NiCly]*

B. [Ni(CO)4]

C. [CoF¢]*

D. [Ni(CN)4]*

Jaau! e ae B Rre 3wd Rioea o gat

[Question ID = 179][Question Description = 129_40_CHE_SEP22_Q29]
1. Aand B only



@act A ik B

[Option ID = 713]
2. BandConly

Dact B sz C

[Option ID = 714]
3. Aand Conly

Pact A siiz C

[Option ID = 715]
4. CandD only

@act C 3z D
[Option ID = 716]

30) The element with atomic number 88 belongs to
U] b 88 aretr dea Adiia &-

[Question ID = 180][Question Description = 130_40_CHE_SEP22_Q30]
1. s - block

S - sciid

[Option ID = 717]
2. p- block

p - ociid

[Option ID = 718]
3. d- block

d - wcifo

[Option ID = 719]
4. f- block

f- i

[Option ID = 720]

31) Which of the following pair has similar radii?
forgaiferRaa 3 2 fop1 SISt 3 Jemmal o 8 ?

[Question ID = 181][Question Description = 131_40_CHE_SEP22_Q31]
1. Scand V

Sc 3V

[Option ID = 721]
2. Coand Ni

Co 3t Ni

[Option ID = 722]
3. Feand Ti

Fe sl Ti

[Option ID = 723]
4. CeandYb

Ce sz Yb
[Option ID = 724]

32) On considering the following:
A. Helium

B. Neon

C. Argon

C. Xenon

Choose the correct option for gas(es) is used in diving apparatus



forFoiferRaa oY earot 3 gu

A. &iferan
B. forifor
C. amofax
D. Sficifer
SIARAIS JUDBVT F Ferier B archt 3121/31A1 & forg w1l frveu ot ot :

[Question ID = 182][Question Description = 132_40_CHE_SEP22_Q32]

1. Aonly
Dact A

[Option ID = 725]
2. Bonly

Dact B

[Option ID = 726]
3. Aand B only

Dact A iz B

[Option ID = 727]
4. Donly

Dact D

[Option ID = 728]

33) In the reaction of ammonia with chlorine, nitrogen trichloride is formed as one of the product when:
aretidiol & ATer riforR bt ifdfepRI 3, NSCISIel CIEadRIES UMb IcUIG & WU 3 Joldl & Sid-

[Question ID = 183][Question Description = 133_40_CHE_SEP22_Q33]
1. Ammonia is in excess.

SraiforRI 3iferdsar 3 aredt 3

[Option ID = 729]
2. Chlorine is in excess.

aciidiol siférpar 3t Bt 3

[Option ID = 730]
3. Ammonia is in low concentration.

SrllferRI et Aigar 3t Btk 3

[Option ID = 731]
4. Chlorine is in low concentration.

acitStol e JAigar 3 Acdt 3
[Option ID = 732]

34) Neutrons were emitted on bombarding beryllium sheet by
qfsferar di arey us........... Dl JHACIE DID oYgfol IcAfoid g oft

[Question ID = 184][Question Description = 134_40_CHE_SEP22_Q34]
1. o-rays

o fepauit

[Option ID = 733]
2. UV-rays

UV - fapauit

[Option ID = 734]
3. Visible rays

9% fdp2uil

[Option ID = 735]



4. IR rays
IR fepuit

[Option ID = 736]

35) Which of the following undergoes nucleophilic substitution reaction exclusively by SN' mechanism?
RrsifiBaa 3 A wiet RGN ¥u A snfdrmeh yferrenuo sififpzn SN Rpznfrelt grer Sar 32

[Question ID = 185][Question Description = 135_40_CHE_SEP22_Q35]
1. Ethyl chloride

fereT TelRss

[Option ID = 737]
2. Cyclohexyl chloride

JMsTCIBRICT TelRES

[Option ID = 738]
3. Isopropyl chloride

SSAYUIST TARES

[Option ID = 739]
4. Benzyl chloride

AfSIcT aciIss
[Option ID = 740]

36) Forthe given reaction:-

CH;
HaC (IJH;CH3 Mo,03 )
Hzc\G,Cﬁ 773k 10-20atm _ . suct
Hy CHs (major product)
i
21 7S T S e
CH;
4 _CH
Hz(l: (T-:H2 3 M0203 .
Hzc\C,Cﬁ 773k 10-20atm z
H, CHs (S 9)
bl g

[Question ID = 186][Question Description = 136_40_CHE_SEP22_Q36]

CH;
O

[Option ID = 741]

CH,
U

[Option ID = 742]

O

[Option ID = 743]

[Option ID = 744]



37) The set of extra elements that can be detected by Lassaigne’s tests are:
siferfeep acdl @I Ac PR dA-udgull GRI Udr cPIRIT ST JADAT 3:

[Question ID = 187][Question Description = 137_40_CHE_SEP22_Q37]
1. Nitrogen, Sulphur, Bromine and Silicon

olslslal, Acw2, qatter 3ii Bifctaior

[Option ID = 745]
2. Nitrogen, Aluminium, Bromine and Silicon

oIS lStol, Ucfiformi, qeftor alte Riferfor

[Option ID = 746]
3. Nitrogen, Sulphur, Bromine and Phospohorus

olIsgIolol, AW, aftel 3R BRWIZA

[Option ID = 747]
4. Sulphur, Boron, lodine and Silicon

ewe, didfel, aRidler diie Biftrastor

[Option ID = 748]

38) Which of the following reaction is used to prepare Freon 12?
forgatfeiRae 3t A fopar sifdrfepRr o1 SURNET W 3ifor 12 @ doirel A fsem ST 3?7

[Question ID = 188][Question Description = 138_40_CHE_SEP22_Q38]
1. Wurtz reaction

gdot aifdriapar

[Option ID = 749]
2. Free radical halogenation

D FHCID SciloloffuT

[Option ID = 750]
3. Fittig reaction

fbfeer aifdRe

[Option ID = 751]
4. Swartz reaction

et g
[Option ID = 752]

39) Which of the following is incorrect reaction?
forgatfeiRae 3t A wlor i sifdrfep=m srcre 3 ?
[Question ID = 189][Question Description = 139_40_CHE_SEP22_Q39]

|
@ Na,Cr,0, O
HgSOq

0
[Option ID = 753]
2. Na
CH.CH,OH — CH,CH,ONa
[Option ID = 754]
CHO

3. CO,H,$ =
o
Anhyd, AICl; /CuCl

[Option ID = 755]



ocl HO

4. H,
_

Pd-BaS0s4
[Option ID = 756]

40) Select the correct statement

forgarfeiRaa sifdrfepem & :
Br
L AN
Main Product

Br )]
/\/K _OH _ A~
THG 3cdTa

[Question ID = 190][Question Description = 140_40_CHE_SEP22_Q40]

1. Hydroxide ion is a base
BISSIARISS 3ROl U &Ik 3

[Option ID = 757]
2. Hydroxide ion is a nucleophile

BISSIARAISS 3IRI6l UD ollfdrpmell 3

[Option ID = 758]
3. Itis a nucleophillic addition reaction

15 U olfdrp2relt Merer sifdifepem 2

[Option ID = 759]
4. It is a nucleophillic substitution reaction

g U olfdipmell yferenyer sififepzn 3
[Option ID = 760]

41) One mole of propyl acetate on treatment with an excess of LiAlH4 in dry diethyl ether followed by acidification gives:
qiftrer wfiee @1 v dler v S15uferer $erR 3 LiAlHy4 &t siffrasar & amer sifiifdpar @2ret & g sreetla=ur uR 3ar -

[Question ID = 191][Question Description = 141_40_CHE_SEP22_Q41]
1. 1 mole acetic acid + 1 mole ethyl alcohol

1 dlet DRI 3@t + 1 et vidicr vedIdicr

[Option ID = 761]
2. 1 mole ethyl alcohol + 1 mole methyl alcohol

1 et oféreT Beidict + 1 AleT AfereT Temlidic

[Option ID = 762]
3. 2 moles of ethyl alcohol

2 et uférer vepisier

[Option ID = 763]
4. 1 mole of propyl alcohol + 1 mole of ethyl alcohol

1 airer Qiftier Yeadigfer + 1 aiver efdicr Yeaidicr
[Option ID = 764]



42) For the given reaction,

OH
dil. HNO;

-

‘A’ and ‘B’ can be conveniently/ easily separated by

&g sfufm F

OH
dil. HNO;

-

T = B o Y s o e ! [w O =T [ s o [

A+ B

A+ B

[Question ID = 192][Question Description = 142_40_CHE_SEP22_Q42]

1. Fractional crystallization
yarsl fepzeetor

[Option ID = 765]
2. Steam distillation

HIT 3M>Adol

[Option ID = 766]
3. Solvent extraction

forcTRI forsapfur

[Option ID = 767]
4. Sublimation

JHEAuldol

[Option ID = 768]

43)

CHO
o -
For the given reaction:

The structure of major product "A' is:

g afifpm

CHO
o+

TG TR A B EREA 8-

dil. NaOH

- =

dil. NaOH

—_—_— -

203K

A

[Question ID = 193][Question Description = 143_40_CHE_SEP22_Q43]

0
O Il
o
1. @)A\CHE/ \©
[Option ID = 769]
)
2.
3

[Option ID = 770]



O
HOAA®
[Option ID = 771]
CHj4

o]
4.
[Option ID = 772]
44) Correct term for pKy, for the following reaction is:

Frefofas afufisa 3 R pi, % e w8t sl &

+
H,O + NH, NH, + HO"
[Question ID = 194][Question Description = 144_40_CHE_SEP22_Q44]
[H0] [N |
1. pKy=log =
[ NH, || OH |

[Option ID = 773_]
[OH || Rry]

2. pKy=log
[ NH;|[ B,0]

[Option ID = 774]
[120] s |

3. pKy=-log

+

[NH, || o1 |

[Option ID = 775]

[Option ID = 776]

45) Match List | with List Il

List | List Il

i. Vitamin Bq2 a. Beri beri

ii. Vitamin B4 b. Cheilosis

iii. Vitamin B2 c. Convulsions

iv. Vitamin B¢ d. Pernicious anemia

Select the correct options:

et | Bt 2l 1l 3 g oo

oxe -1 et -l

i. fererfdrer Bz A. 3% - af

ii. frerfirer B+ B. fecifRra

iii. frerfder B, C. RIS usell

iv. faeifdrer Bg D. gumeft Fwbreudr

oif<l feu are famedl 3 A A8 3R gforue :



[Question ID = 195][Question Description = 145_40_CHE_SEP22_Q45]
1. i-A,ii-B,iii-C,iv-D

[Option ID = 777]
2. i-B,ii-A,iii-Civ-D

[Option ID = 778]
3. i-C,ii-D,iii-A, iv-B

[Option ID = 779]
4.i-D,ii-A,iii-B,iv-C

[Option ID = 780]

46) Select the incorrect chemical reaction
STcId AIRARITID IR DI ol :
[Question ID = 196][Question Description = 146_40_CHE_SEP22_Q46]

. @ KMn0, — H,S0, LOOH
5 > COOH

[Option ID = 781]

Tollen's
2. CH3;CH,CHQ —— CH;CH,CHCOOH
reagent

[Option ID = 782]

NaOH+ CaO
—»

3+ CHLCOONa CHy

A
[Option ID = 783]
4 Ho0
" C;H5C00COCH; — 2CH3;CO0H

[Option ID = 784]

47) Which of the following monomers are unsuitable for condensation polymerization?
forgotferi¥ad 3 A Dol A TDCIP IHdolol TEIDIDUT D 18 U 37
[Question ID = 197][Question Description = 147_40_CHE_SEP22_Q47]
1. Ethanoic acid and propanol
wlolls® 3T 3R Yileifel

[Option ID = 785]
2. Hexane-dioic acid and ethylene glycol

SFol-ST53NsD 3T 3M uldcfier semsaler

[Option ID = 786]
3. Hexane-dioic acid and ethylenediamine

SRol-ST3MED 3wl 3R vliclorsEdiie

[Option ID = 787]
4. Hydroxyacids

[ESiceikieat
[Option ID = 788]

48) Which of the following is a secondary pollutant?

foreat 3 A ol fGedRIP ygud 3?7

[Question ID = 198][Question Description = 148_40_CHE_SEP22_Q48]
1. N2O

[Option ID = 789]
2. PAN

[Option ID = 790]
3. 50,

[Option ID = 791]



4, COy
[Option ID = 792]

49) The green solvent which replaces hazardous tetrachloroethane for dry cleaning purpose is
forsler grem @ 3Z9A A WD TIaciRIzAel bl SPIE clol drcll 33 fcRID 3-

[Question ID = 199][Question Description = 149_40_CHE_SEP22_Q49]
1. Isopropyl alcohol

3EAMIfUeT vedbafet

[Option ID = 793]
2. Hydrogen peroxide

BIsSlolol WIAASS

[Option ID = 794]
3. Acetone

Bafictor

[Option ID = 795]
4. Liquefied carbon dioxide

Refiayx Prdel swEsifdiss

[Option ID = 796]

50) Example of gaseous air pollutants from the following is:
forgotferfiaa 3t A Sifi~r ary ygud @1 I 3-

[Question ID = 200][Question Description = 150_40_CHE_SEP22_Q50]
1. Hydrocarbons

BISSIDIdol

[Option ID = 797]
2. Fumes

fagii

[Option ID = 798]
3. Mist

g
[Option ID = 799]
4. Smog

YHA-DIBA
[Option ID = 800]

Topic:- PCBO1_Biology

1) Biodiversity

A. Decreases from equator to polar regions

B. The area with very few plant and animal species with threatened species are called hotspots
C. Increases from higher altitudes to lower altitudes

D. Depletion of genetic diversity of crop plants is mainly due to introduction of better varities with high yeild, decrease
resistance etc.

E. Increases from tropical forests to temperate forests

Choose the correct answer from the options given below:

Sta fafererar
A. sgre Y A gdia gl 3 Sia fafeerar ac siedl 3 |
B. aga oa ulell iz Stota?l & gonferil & Arer 2aa? arcll geuferil ard iq @1 icedic war it 3|



C. S ars A oa Sars ao Sid fafaerar i gig|
D. weret ulell &l smorcfore fafeerdar @1 g1 IR U A Iod Iust D ATA JeaR [l bl 9Resne, gferier 3 ol snfe @ orur dlar 3
E. Jvur ofedeiiRn geil 3 A3iofidrour ol 3 Sia fafaerar agdl 3|

[Question ID = 201][Question Description = 101_39_BIO_AUG22_Q01]

1. A, Cand E only
Bact A, Caliz E

[Option ID = 801]
2. A, Cand D only

@act A, C 3sik D

[Option ID = 802]
3. Cand E only

@act C 3k E

[Option ID = 803]
4. B, C, DandE only

Pdac B, CD 3z E
[Option ID = 804]

2) This aspect is an exclusive characterstic of living being:
I8 Uac] AfSral &l v fafdrse fadruar

[Question ID = 202][Question Description = 102_39_BIO_AUG22_Q02]
1. Increase in mass by accumulation of material both on the surface as well as internally

I8 3IR SIARD Sloll W APB] D IR SRI GoIdel 3 glg

[Option ID = 805]
2. Isolated metabolic reaction occur in vitro

gerd 3uruerit gferfipRr sor-facY af axcdt 3

[Option ID = 806]
3. Perception of events happening in the environment and their memory

wRIfazur 3 Slot arefl aconaii P sr@emun 3fiz Iorht Fgfer

[Option ID = 807]
4. Increase in mass from inside only

Ddet Hiaz A goadrol A giy
[Option ID = 808]

3) People recovering from long illness are often advised to include Spirulina in their diet because it
cidl ot A Sazol a1l cisll DI AR JoId ABR A Rusforell AT s3d onfdrer ol &t etz & Sl 3 a=iifs

[Question ID = 203][Question Description = 103_39_BIO_AUG22_Q03]
1. has antibiotic property.

[Option ID = 809]
2. isrich in protein.
ST IRYZ AT A Qtel Aer 3

[Option ID = 810]
3. restores intestinal flora.

31ic], dorufer DI Yoroiifded s &

[Option ID = 811]
4. make food easy to digest.

ATl 3MRAoH 3 Ud Sl &

[Option ID = 812]

4) Biosystematics aims at



Sla-raz-enfdsirol @I cgAq

[Question ID = 204][Question Description = 104_39_BIO_AUG22_Q04]
1. The classification of organisms based on broad morphological characters.

RIUD 3rpfer Adeft quif @ smearR w2 Sfidl a1 geffaszur

[Option ID = 813]
2. Identification and arrangement of organisms on the basis of their cytological characteristics.

Sftdl <6t usarer iz 3orchl Db fISTuArsii @ 3imrenR U2 srazen

[Option ID = 814]
3. The classification of organasim based on their evolutionary history and establishing their progeny on the totality of various parameters from all
fields of studies.

3ol DRI D SR D IR W AdIcel DI doldUT 3R 3ieRIel D Ast Siql D fAfdool AUGST Bl AT W2 Jorchl dondctt Fenfia o

[Option ID = 815]
4. Delimiting various texa of organisms and establishing their relationships.

Sftdt <6t ferfdroor fpeal @1 2fifdrT w2or iz Iord ddelt B Iemuel wol

[Option ID = 816]

5) Match List | with List I

List | List Il

IA. Saccharomytes cerevisiae|l. Cyclosporin - A

B. Nucleoployhedrovirus Il. Statin

C. Monascus purpureus Ill. Ethanol

D. Trichoderma ploysporum |IV. Integrated Pest Management
Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma B

et -1 et -1l

IA. Saccharomytes cerevisiae |. Arzaciztifyer - A
B. Nucleoployhedrovirus Il. ¥fear

C. Monascus purpureus lll. s9Giter

D. Trichoderma ploysporum IV. ublapa ble yetror

il fRu o1 el 3 A At I gfom :

[Question ID = 205][Question Description = 105_39_BIO_AUG22_Q05]
1. A-IV,B-1ll,C-1,D-1

[Option ID = 817]
2. A-IV,B-1l,C-1,D-1l

[Option ID = 818]
3. A-lll,B-IV,C-1l,D-1

[Option ID = 819]
4. A-1l,B-11,C-IV,D-I

[Option ID = 820]

6) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : An antibody is a protein molecules made by the lymphocytes.
Reason R : An antibody binds to a specific foreign antigen and neutralizes its odd effects.

In light of the above statements, choose the correct answer from the options given below

i<l <1 awped f&u a1 3, Srerdl A v ol 3ifdperel ‘A’ SARN RN 3 3R gRI 8 PRUI 'R’ & U 3 dec foor srn &
siffrperet ‘A’ ¢ o WSt v Qiélet 3rv) 3 Sil feTebRAISTl SIRT JollRI SIIdl 3
®rRul 'R’ : ue oddiE! v fafdree fagoft gferstor A1 qierdr 3 3iiz 1 fawer Qurdl @I d3RR Bkl &

[Question ID = 206][Question Description = 106_39_BIO_AUG22_Q06]
1. Both A and R are true and R is the correct explanation of A



‘A’ 3z 'R’ glell 2@t 8 8l R, ‘A’ Bl A e &

[Option ID = 821]
2. Both A and R are true but R is NOT the correct explanation of A

‘A’ 3z 'R’ GYell &t 2 8 clfdpet 'R, A’ bt 8l e oidt 3

[Option ID = 822]
3. Ais true but R is false

‘A Jra & dfevst R' g1 8

[Option ID = 823]
4. Ais false but R is true

‘A 515 8 aiftper R’ 1@ &
[Option ID = 824]

7) In which of the followiong virus the genetic material is surrounded by two shelled capsomere?
o1 arRRT Bl Adfde AREY I MaRviRkI DRIRR A BRI 331 87

[Question ID = 207][Question Description = 107_39_BIO_AUG22_Q07]
1. Hepatitis A

et v

[Option ID = 825]
2. Hepatitis B

lersfea |t

[Option ID = 826]
3. Hepatitis C

Bersfear it

[Option ID = 827]
4. Hepatitis D

Blersfear St
[Option ID = 828]

8) Sequencially arrange the stages of hybridisation procedure
A. Bagging with tagging

B. Selfing

C. Selecting parents with desired characters

D. Crossing

E. Esmasculation

Choose the correct answer from the options given below

HDIVT GIRAT DT IHIBH

A. eRier @ are "Afier

B. ‘afewsr'

C. diftsa syu1 @ FHraI-fdr @1 <RIt

D. griz®ur

E. 'srarraygionet

offa 3w s1u fawcul & A AE 3= gfore

[Question ID = 208][Question Description = 108_39_BIO_AUG22_Q08]
1. A,B,C,D, E

[Option ID = 829]
2. B,C,E, D, A

[Option ID = 830]
3. G,B,E,A, D



[Option ID = 831]
4. D,B,E, A C

[Option ID = 832]

9) Given below are two statements
Statement I: Species is the basic unit of classification.

Statement II: Two plants can be said to belong to the same species if they can reproduce freely with each other and from
seeds.

In light of the above statements, choose the most appropriate answer from the options given below

ofiY O awbor R 1w 3 |

el |: yonfr aeffazor 6 o1 sorE 3

@erat |l: 31 diell @I v & gaiir A Adia a1 S Addr & Al d TP G D AT I WU A Yslolol B2 disl aI foreiiur dd &
SWRITP Pl D 3MIclid A, ofld v 31w el 3 A AFR) SuYd IR I a6l HIfSte |

[Question ID = 209][Question Description = 109_39_BIO_AUG22_Q09]
1. Both Statement | and Statement Il are correct

@erol | 3l weret |l Qo & 3 &

[Option ID = 833]
2. Both Statement | and Statement Il are incorrect

@erol | 3 weret || Sl 8l st &

[Option ID = 834]
3. Statement | is correct but Statement Il is incorrect

Dol | 38t 3 ot werer || stetea 8

[Option ID = 835]
4. Statement | is incorrect but Statement Il is correct

Dol | teta 2 cifcpor weret || 31 3

[Option ID = 836]

10) Match List | with List Il

List | List Il

A. Comb Plate |[I. Porifera

B. Operculum |ll. Chondrichthyes
C. Choanocytes|lll. Ctenophera

D. Gill Slits  [IV. Osteichthyes
Choose the correct answer from the options given below:

Match List | with List Il (xeft | @t 35t |l & wrer Jgaiferar Bifdre)

et | il
froraar, snfe [BISCIHA DI ofld
A. e ufgmr |. difyear

B. gcsg Il. Difswmensa
C. DIsollRIIse 1. Roirsar

D. f3rer fiog IV. sif¥ciRerst

oii<l feu aru faasedl 3 A A3l IR gfora:

[Question ID = 210][Question Description = 110_39_BIO_AUG22_Q10]
1. A-11,B-1l,C-1,D-1IV

[Option ID = 837]
2. A-lIl,B-IV,C-1,D-1l

[Option ID = 838]
3. A-IV,B-1l,C-11,D-1

[Option ID = 839]



4. A-1,B-1l,C-IV,D-I
[Option ID = 840]

11) Which of the following matching pair is wrong?
fororferRaa st 3 A ot AT NS a1cra 37
[Question ID = 211][Question Description = 111_39_BIO_AUG22_Q11]

1. Ornithorhyncus---------- Oviparous
siffofenf¥omar -------- 3ISYSID (3FS ol drelr)
[Option ID = 841]
2. Balenoptera------------- Oviparous
1o i e cRELRRELRICEREEEEELEESLEILLE SSYSID (3S Sol dreln)
[Option ID = 842]
3. Macropus------------ Viviparous
i siue: SEETTRELEEELEILERILLEEL LR LEIeLE: Iollaysio (aa de1 ool areln)
[Option ID = 843]
4. Echidnag------------- Oviparous
|G orery i TELEELEEEEELTLLTELLEEEEEE 3ISYSID (38 ol arer)

[Option ID = 844]

12) Large holes in " Swiss- Cheese" are due to
‘Raa-disr’ 3 a3 gl o dRut
[Question ID = 212][Question Description = 112_39_BIO_AUG22_Q12]
1. Acetobecter aceti
eReldac? vRct

[Option ID = 845]
2. Penicillium chrysogenum

Arfifereran Riitotlon

[Option ID = 846]
3. Propionibacterium sharmanii

Qitenfordacif¥era oot

[Option ID = 847]
4. Aspergillus niger

OAULSHeTT SlIEorR
[Option ID = 848]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A morphology based approach to taxonomy is called alpha taxonomy and it is old fashioned.

Reason R: A multidisciplinary approach to taxonomy called omega taxonomy is favoured in recent years as it excludes
morphological features.

In light of the above statements, choose the most appropriate answer from the options given below:

il Q1 awpeu fRu 91w 3, Rrerdl A vep oY 3iffaperel "¢ AR SR $31R GIRI 3 BRUI AR’ & U i cad fpar srRm &

3ol € : goffaur & fere uas Iyl fasirel sienta efSemIvr @I 1ewl Cailolidl @wal ST & 3R A8 YRIol Stélel Pl &

DRUI 3R : 3Ic] D qul A 3PN caAleiidl oD cadleiidl @ feTe v gg-fawRIP eftcmIvr @1 Feiel fpT oRI 3 aRIlfs $3 IMDIIDRI
feroreramg onfdrer odl &

SWRITP Pl @ 3MIcllid i, ofld 3u s1u el 3 A AR Iugh IR DI Tl HIRdIe

[Question ID = 213][Question Description = 113_39_BIO_AUG22_Q13]
1. Both A and R are correct

© 3R 3R Glall & 38 &
[Option ID = 849]



2. Both A and R are incorrect
© 3R 3IR Glail &t oIekd 3

[Option ID = 850]
3. Ais correct but R is not correct

© A& 3 difdbot 3R ALt oidt 3

[Option ID = 851]
4. Ais not correct but R is correct

© 2t orl 3 Aot e A 3
[Option ID = 852]

14) Match List | with List Il

List | List Il

A. Java Man I. Was first to walk erect

B. Australopithecus|ll. First to use fire

C. Cromagnon man |lll. First to develop speech

D. Neanderthal Man|lV. First colour wall painting|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre
et -| et -l

A. Sirar dier |. 3fterm actol areir usclr Alela

B. sigalftdae ||l. =1 uscl 31181 D1 GRIeT

1. simor fasR1a @war ara
Bt

D. forgszere diar |IV. uschl et Sar tiféar

C. @16t A

off<l feu ore fpedl 3 A A8 3R gfore :

[Question ID = 214][Question Description = 114_39_BIO_AUG22_Q14]
1. A-1,B-1,C-1v,D-1l

[Option ID = 853]
2. A-1,B-lll,C-1,D-1IV

[Option ID = 854]
3. A-I,B-IV,C-lll,D-1l

[Option ID = 855]
4. A-11,B-1II,C-IV,D-1

[Option ID = 856]

15) Age of mammals is known as -
Feeleni¥=Il I oI -
[Question ID = 215][Question Description = 115_39_BIO_AUG22_Q15]
1. Coenozoic
Riollsiis®

[Option ID = 857]
2. Mesozoic

AAGISD

[Option ID = 858]
3. Palaeozoic

Uferislisd
[Option ID = 859]



4. Jurassic

SRIBID
[Option ID = 860]

16) Match List | with List Il

List | List Il
Organism Connecting Link Between
A. Euglena I. Plants and Animals

B. Ctenophora |ll. Coelenterates and Platyhelminthes

C. Peripatus Ill. Arthropods and Annelids

D. Chimera IV. Fish and Tetrapods

V. Cartilaginous Fishes and Bony Fishes

Choose the correct answer from the options given below:

It -1 B e -1l A gk B
et -1 et -1
it Siisal archt ot

A. Ioctell |. i€l sii? SteraR

B. Roitwrar  |ll. wiediddcar sz iR Racer
C. aRaca |, sueidrsr aiiz waiferga

D. wrsdar ||V, ol i eqdisa

V. eiféenfer soRml sz disl asfrt

il fou s1e frseul 3 ¥ A8 IR gforw ©

[Question ID = 216][Question Description = 116_39_BIO_AUG22_Q16]
1. A-I,B-Il,C-IVv,D-V

[Option ID = 861]
2. A-1,B-ll,C-lll,D-V

[Option ID = 862]
3. A-l,B-1ll,C-ll,D-IV

[Option ID = 863]
4. A-1,B-1,C-V,D-IV

[Option ID = 864]

17) Modification of leaves in to scales in Ruscus and Asparagus is an example of
RADA 3R TIURSERT 3 uftRil DI Ferd: 9Icd 3 b SR FoNeret forel &1 361601 3

[Question ID = 217][Question Description = 117_39_BIO_AUG22_Q17]
1. Vestigial Organs

3ragrdt 3fer

[Option ID = 865]
2. Analogous Organs

310J3U 3ieT

[Option ID = 866]
3. Parallel Evolution

JFATeTicR Tt
[Option ID = 867]
4. Homologous Organs

roractt aier



[Option ID = 868]

18) Father of palaeontology -
Sfiareafaster & Stelad -

[Question ID = 218][Question Description = 118_39_BIO_AUG22_Q18]
1. Leonardo de Vinci

feriomrst St fereft

[Option ID = 869]
2. Ernst Haeckel

3163¢ 3l

[Option ID = 870]
3. Karl Von Baer

et dfol W

[Option ID = 871]
4. Georges Cuvier

Sifsf dRIfARIR
[Option ID = 872]

19) Age of Trilobites is regarded as -

CISClAIScA I YT HAloll SIIdl &

[Question ID = 219][Question Description = 119_39_BIO_AUG22_Q19]
1. Cambrian

DfdgRIor

[Option ID = 873]
2. Permian

ufdferer

[Option ID = 874]
3. Devonian

SdlfoRIer

[Option ID = 875]
4. Precambrian

yd-dfdgrer
[Option ID = 876]

20) Fossil of Kenyapithecus was discoverd by
Do mA o Sitarea & Fst 6 o1

[Question ID = 220][Question Description = 120_39_BIO_AUG22_Q20]
1. R.A. Fisher

3R. ©. fibor

[Option ID = 877]
2. Robert Brown

3fad gr3or
[Option ID = 878]
3. Mary Leaky

3131 eficbt

[Option ID = 879]
4. L.S.B. Leaky

wererdt ofidbt
[Option ID = 880]

21) The mode of nutrition in Rhizopus, Penicillium, Aspergillus and Yeast is



AR, UfoiRiferiar, vrufdferat 3z Mize 3 dIgur o1 adiat

[Question ID = 221][Question Description = 121_39_BIO_AUG22_Q21]

1. Parasitic
aofidt

[Option ID = 881]
2. Saprophytic

yfersiidt

[Option ID = 882]
3. Autotrophic

Faurdht

[Option ID = 883]
4. Symbiotic

Jgsiidt
[Option ID = 884]

22) Green Algae (Chlorophyceae)

A.The major Pigments are Chlorophyll a, b and fucoxanthin

B. Reserve food material is stored in the form of starch

C. Asexual reproduction is by flagellated zoospores produced in zoosporangia
D. Ectocarpus, Volvox, Sargassum, Laminaria

Choose the correct answer from the options given below:

321 dfarel (aciRIwrs=l)

A. g auie acRifbe a, b i wokider 3

B. sm=féra zarer Anef a1 $isRuI Yord @ wu 3 i smar 3

C. acrdisiy] enmeft 3 eI Ystotol wonfirbiI eI acrdisy SR 3idar 3
D. vaciord, dicdia, ARoRgA, cidoliz=n

sifa feu a1 fameul 3 A 3E 3= gfora:

[Question ID = 222][Question Description = 122_39_BIO_AUG22_Q22]
1. A, BandD only

A, B gz D darer

[Option ID = 885]
2. Aand B only

A 3iz B dder

[Option ID = 886]
3. Band Conly

B siiz C dact

[Option ID = 887]
4. Band D only

B 3iiz D dact
[Option ID = 888]

23) At some places the cambium form a narrow band of parenchyma, which passes through the secondary xylem and the
secondary phloem in radial directions. What is this called

PO Tl UR DRI Joam D AbIvl §s @1 foraaior w2 3, Sl fxedike siscd iR fedize divars A M3e [Gomsil 3 ssrar 3 s a=n wal
SIrer 3?7

[Question ID = 223][Question Description = 123_39_BIO_AUG22_Q23]
1. Secondary medullary Rays

fellRre Agert fepul



[Option ID = 889]
2. Casparian strip

daudl ugh

[Option ID = 890]
3. Pericycle

ufs3er

[Option ID = 891]
4. Vascular cambium

DR DIRIA
[Option ID = 892]

24) Who gave the concept of ‘centres of origin’ with respect to origin of cultivated plants?
el @ dlell bl scufe @ Ader A Seufer D Fer dg bl sraemvn ol 1?7

[Question ID = 224][Question Description = 124_39_BIO_AUG22_Q24]
1. Nikolai I. Vavilov

forpicns ais. arfdreiia

[Option ID = 893]
2. Harlan and Hawkes

B3cTiol 3R Bt

[Option ID = 894]
3. de Candolle

<t Dslel

[Option ID = 895]
4. Aristotle

3R
[Option ID = 896]

25) Photorespiration

A. In C-3 plants some O3 binds to RuBisCO

B. A specialized kind of leaf anatomy (Kranz Anatomy) is seen in plants exhibiting Photorespiration
C. Involves the activities of chloroplast, mitochondria and peroxisomes

D. It was traced by the work of Calvin and his co-workers

Choose the correct answer from the options given below:

b1l %ol
A. C-3 dieil 3 oo sifa=iisel wferea! (RuBisCO) A sirecg 3l 3

B. gmo19r *az1et Yefdia a2or arct ulell 3 s [y yor &t urdl &bt 9ndif¥es Faer (apist worrcisn) Sl siredl 3

C. su @t 3 diol 3rcre1-31c191 BIRIBRI 3PIm 3ierid adiRitare, AADifogn iz MRifdreria & sifefaf?ril onfirer 3
D. sroo1 udr Dfeaa 3R D AsHRRI D PRI A PRI SR AT

ofia 3w s1u fawcdl & A A8 3a= gfom:

[Question ID = 225][Question Description = 125_39_BIO_AUG22_Q25]

1. Aand Conly
A siiz C dacr

[Option ID = 897]
2. Cand D only

C 3z D daa

[Option ID = 898]
3. BandConly

B 3iiz C dacr



[Option ID = 899]
4. Aand B only

A 3z B ddact
[Option ID = 900]

26) Given below are two statements
Statement |: Trichoderma sp is used as a biological control agent against plant pathogens
Statement Il: Ladybird beetle is used for controlling aphids in mustard plants

In light of the above statements, choose the correct answer from the options given below

il ol Dol fdu sre 3 ¢

@l - | : grsplsal Ul @1 IueT Uit @ AeTsIeid] @ Racre Sifded foriqur wsic & u 3 fdpan sirar 3
et - || @ Il o el 3 ufbsar o Prifga w1 & e aias dicar @1 SuieT s sirar &

IWRITs Percll @ el 3 foraiftiRaa famcul 3 A A8 3a= oi:

[Question ID = 226][Question Description = 126_39_BIO_AUG22_Q26]
1. Both Statement | and Statement Il are true

@erol | 3z || Sreit a1dt &

[Option ID = 901]
2. Both Statement | and Statement Il are false

@erol | 3z | Slail areta &

[Option ID = 902]
3. Statement | is true but Statement Il is false

el | A &, fpog et || e &

[Option ID = 903]
4. Statement | is false but Statement Il is true

el | 3RI &, fpog et || A8t &
[Option ID = 904]

27) Correct sequence of steps in tissue culture technique

A. Selection of explant

B. Sub culture on rooting/shooting media

C. Surface sterilization of the explant

D. Acclimitization

E. Culturing the explant on MS medium supplemented with PGRs

Choose the correct answer from the options given below

SHeaw Hatlol dadoile 3 wcdl BT AL oIma

A. af3:3a &1 wRIe

B. ¥fear/9rfést fifSar uz sriatior

C. afg:3ia b Aas bt orshatiazor

D. cormejactot

E. disfisiz @ A1 Yed GATA AAIH UR dfgRlu &bl el
il e a1 faseul 3 A 78 3a= gfore

[Question ID = 227][Question Description = 127_39_BIO_AUG22_Q27]
1. A,B,D,C, E

[Option ID = 905]
2. A,C,E B, D



[Option ID = 906]
3. DA, B,C E

[Option ID = 907]
4. A,D,C,B, E

[Option ID = 908]

28) Symbiotic Nitrogen fixation is carried out by
Rrearnfes oirsdisiol Reria2ur grrI e sirr 3

[Question ID = 228][Question Description = 128_39_BIO_AUG22_Q28]
1. Bacillus subtilis

AR rafefert

[Option ID = 909]
2. Rhizobium leguminosarum

SR ClofHOTIRIRA

[Option ID = 910]
3. Azotobacter

vsllcldac?

[Option ID = 911]
4. Xanthomonas citri

Seiaitamt Bigl
[Option ID = 912]

29) Given below are two statements

Statement I: Plant breeding aims to improve the characteristic of plants so that they become more desirable agronomically
and economically

Statement Il: It is a quick and easy method for manipulating plants genetically

In light of the above statements, choose the correct answer from the options given below

ofi &1 perer Ru sme 3 ¢
@l - | : ureu Ysielol @I 3893 dlell &bl fadruarsii 3 e ool 3 aifee d ofYy siiz snffe wu A sifere aivefl g1 I
@ - |l : A8 ordidre wu A ulell 3 33w Dol @I caf¥d 3iiR IRIe adler 3
SWYth Dcil B Il I forrarfeiRaa faeul 3 A 8l 3R gol :
[Question ID = 229][Question Description = 129_39_BIO_AUG22_Q29]
1. Both Statement | and Statement Il are true
el | 3l || Sl 8l &

[Option ID = 913]
2. Both Statement | and Statement Il are false

el | 3z || 3ol arera &

[Option ID = 914]
3. Statement | is true but Statement Il is false

el | At 8, fpog werer | srera 8

[Option ID = 915]
4. Statement | is false but Statement Il is true

el | sRic 3, fbog werr |1 258t 3
[Option ID = 916]

30) Match List I with List Il

List | List Il

Enzyme

IA. RuBISco I. Reduces molecular oxygen to form water
B. PEPCase Il. Catalyzes the phosphorylation of glucose




C. Cytochrome C oxidase Ill. beta-carboxylation of phosphoenolpyruvate|

D. Hexokinase IV. Captures atmospheric CO;

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -1
[QosIlSd

A. SR I. uroft wotmot @ R amviRies sifarafisror Bt o w2 3
B. isdicdar I1. scgstst @ BRI B Sy aar &

C. amsAa@n C siiazfi3st|lll. Brraiesiicrurssdc 1 dier-wrlfrrdert

D. ¥airrsort IV. arpiscia CO, @ uwmsar 3

il fou o1 frseul 3 3 A8 IR o ©

[Question ID = 230][Question Description = 130_39_BIO_AUG22_Q30]

1. A-IV,B-1Ill,C-Il,D-1I

[Option ID = 917]
2. A-11,B-11,C-1,D-1IV

[Option ID = 918]
3. A-IV,B-1Il,C-1,D-1

[Option ID = 919]
4, A-IV,B-ll,C-1,D-1I

[Option ID = 920]

31) Match List | with List Il

List | List Il

A. Glisson’s capsule I. sub mucosa of duodenum

B. Brunner’s glands 1. hepatic lobule

C. Sphincter of Oddi Ill. on the walls of ileum

D. Peyer’s patches IV. junction of hepato-pancreatic duct
V. mucosa of the stomach

Choose the correct answer from the options given below:

et -1 1 3 -l A AT Bifdre :

I - et -l
A, Beratol dRIet I. spuil (duodenum) @ 3u DI
B. goi2 sjferii Il. e elisger
C. 353t @1 Rwace Ill. sferEr &1 Slari uz
D. dierf da IV. arapa-3eonorT arfdsil @ sits
V. Oc &1 RIpRI

i) f3u a1e faaseul 3 21 A8l Iaz gfere :

[Question ID = 231][Question Description = 131_39_BIO_AUG22_Q31]

A-lI, B-I, C-IV, D-IIl [Option ID = 921]
A-lll, B-1V, C-Il, D-V [Option ID = 922]
A-l, B-1, C-IV, D-V [Option ID = 923]

A-lll, B-1, C-II, D-IV [Option ID = 924]

A W N -

32) Which of the following statements is FALSE regarding keystone species?

I¥clol yaiieril @ der 3 fooifciRaa 3 21 il AT SRITeT 31eId 3?7

[Question ID = 232][Question Description = 132_39_BIO_AUG22_Q32]

1. Keystone species are usually predators
IIol YIIieRI IR W Ot aidt &
[Option ID = 925]



2. Keystone species are the most abundant species in an ecosystem
bRclol ysferI v uif3Rerferct dq 3 e siféld Ay 3 ysufern &
[Option ID = 926]
3. Sea otters, lions, and sea stars are also considered important keystone species

MG-Ioleed, IR 3l W-Riari ol off sscayu dlclel ysifer ol Sirr &

[Option ID = 927]
4. Without a keystone species, many ecosystems would fail to exist

o eeler YEIRT B Riot, @ WBBREB i aif¥ciea 3t ot 2t
[Option ID = 928]

33) Which list is in the correct order of DECREASING size?

PR H oAl D A8 A A @it Al A 3?7

[Question ID = 233][Question Description = 133_39_BIO_AUG22_Q33]
1. muscle fibre, sarcomere, myofilament, myofibril

Uoft wisae, ABifRR, ARNbede, AR

[Option ID = 929]
2. muscle, fasciculus, muscle fibre, myofibril

Fiolt, BRIperRI, ARl Bz, ArRlfbder

[Option ID = 930]
3. sarcomere, fasciculus, myofibril, myofilament

ADIRR, BRIGeRI, ARNbe, ARt

[Option ID = 931]
4. muscle, muscle fibre, myosin, myofibril

Fiemol, Aol wsae, ARG, ARIbT
[Option ID = 932]

34) In mouth-to-mouth artificial respiration, the rescuer blows air from his or her own respiratory system into that of the
victim. Which of the following statements are correct?

3 A die am DI =l I, Jara Dl arell Afp Uil el Yurreil 2 Uifda uftp 3 sar Govar 3 forestfcilRaa 3 A @il AT s=itel AdT 37

[Question ID = 234][Question Description = 134_39_BIO_AUG22_Q34]
1. expansion of the victim’s lungs is brought about by blowing air in at lower than atmospheric pressure (negative-pressure breathing)

if$a & Bws! @I AR arpiscin gard 3 @ gal (GIPRIFID GdId “aRiel) Hdol 3 3l &

[Option ID = 933]
2. during inflation of the lungs, the intrapleural pressure decreases

BBS] & JAqgdel D SRIel, SICRel GdId d Bl SIl &

[Option ID = 934]
3. expiration during this procedure depends on the elasticity of the alveolar and thoracic walls

31 YfRn @ Giel I ufeaRiicr? 3z ast SRl &l ccdicmuet w2 forfz awacdt 3

[Option ID = 935]
4. this technique will not work if the victim has a hole in the chest wall, even if the lungs are intact

*Ig ddolid DI oidl Bt PR ifisa @ e &I Slar 3 83 8, a’ Bws IR ot 2

[Option ID = 936]

35) Sequentially arrange the passage of kidney filtrate
A. loop of Henle

B. glomerulus

C. proximal convoluted tubule

D. collecting duct

E. distal convoluted tubule



Choose the correct sequence answer from the options given below

3¢ @ foreticol T ALK
A. Zorcl BT QU
B. sclidzert

C. asfiuzrer garacr siferat

D. wafadsrsac

E. g3ver gaAracR aferat

offax fow s1e frepeul 3i 21 A3t srgfaya @7 gfore
[Question ID = 235][Question Description = 135_39_BIO_AUG22_Q35]

AW N =

A, B, D, E, C [Option ID = 937]
A, E, C, D, B [Option ID = 938]
B, C, E, A, D [Option ID = 939]
B, C, A, E, D [Option ID = 940]

)

2 N at)

36) The population of an insect species shows an explosive increase in numbers during the rainy season followed by its
disappearance at the end of the season. What does this show?

auf 5Bq @ Sik1el i genferil &l iz # frwies gfy ez Sl 3 3k uD arc Al @ 3ia 3 U6 3R 8l SIia1 & A8 o=l gorfer 3 ?

[Question ID = 236][Question Description = 136_39_BIO_AUG22_Q36]

1.

the food plants mature and die at the end of the rainy season
arer il uluad 2l 3 32 auf @ lae D 3id 3 a1 S &
[Option ID = 941]

2. its population growth curve is of J-type
SADI SRR Jfg-ad SI-ydR Bl 3
[Option ID = 942]
3. S-shaped or sigmoid growth of this insect species
531 dlc ysifcr &I Bewiiss gl srerar v s sft
[Option ID = 943]
4. the population of its predators increased enormously

e Riepif¥edi B amrard 3t ot qfy a8 &
[Option ID = 944]

37) Nerve impulse

A.

during the propagation of a nerve impulse, the action potential results from the movement of K* ions from extracellular fluid

to intracellular fluid

B.
C.

D

E.

electrical synapses are very rare in the human system

receptor sites for neurotransmitters are present on the pre-synaptic membrane

. when the impulse reaches the presynaptic region, synaptic vesicles break and release neurotransmitters

impulse through nerve fibers is unidirectional because nerve fibers are insulated by a medullary sheath

Choose the correct answer from the options given below:

dfexeet smder

A.
B.
C.
D.

E.

U AfefepT 35T & YAR D ST, Taglel GIIdRIer oI fomfur K* @ arsz @ ga 3 sia-wifdrdbia ga 3i iRIell il Srarsidl & ufunaraey gidr 3
Frora gl 3 frega Rroter sgd gefor 3

RRIgREAC B fore RAwe: Fera yd-Rioiftes Ricell ur #ige 3

19 39T YiRmeiftes 8 3 ugaar 3, a Riaiftes ARt ¢ oA 2 3k R B1sa

cferent Y91t B FH1EAA A AT TBTNCHD 3 TP dfefant Y0 DY v Agcrdl ofic grr 3aRfed v Sirar 3

offar 3w a1e farasedl 3 Srard goi:::



[Question ID = 237][Question Description = 137_39_BIO_AUG22_Q37]
1. AandE only
A 32 E daa

[Option ID = 945]
2. B, Cand D only
B, C 3iiz D @>aa

[Option ID = 946]
3. C,DandEonly
C, D 3k E daa

[Option ID = 947]
4. Band D only
B siiz D daet

[Option ID = 948]

38) Anemonefish, or “clownfish”, are certain species of fish that live inside of anemones. Unlike all other fish, they are

protected from the stings of the anemone’s tentacles. The anemonefish uses the anemone for protection and feeds off of
the scraps the anemone leaves behind. Sometimes, the anemone gets parasites that the anemonefish can pick off, and the
anemonefish chases away fish that like to eat anemones. How would you classify their symbiosis?

wolldilel fibor (Anemone fish) = aeiisar fbor (clownfish) secll & o ysufern 3 St woflallod @ 3ic W@l & 3o Asil IBeRIl @ fudla, d wofladler &
So AIPRRBAE  wollaloll w1Tvch IRen B fere wollaler o1 IURNET Bl 3 3l Tolldilel B FIRI VIS 31 a9l ol Wrcfl 3 wafl-wsfl, vollailer Uz ushidl

311 SiIer 3 31 wollalolftbor o Al 3, iz wollalolftbor 3ot srvetl w1 dist w3 Amdl 3 Sil Colldlod ol Ug dxcdl 33U Iold> Assiidol D) DA doffayd
®IAN?

[Question ID = 238][Question Description = 138_39_BIO_AUG22_Q38]
. parasitism
wofidt

1

[Option ID = 949]
2. commensalism
ABHISIAT

[Option ID = 950]
3. mutualism
URIURD 3M9RT

[Option ID = 951]
4. predation
URIISIUT

[Option ID = 952]

39) Blood’s osmotic pressure is greater than the osmotic pressure of the surrounding interstitial fluid that is outside of the
capillaries, because

b I JMTAIRCD GaId RIURA @ iARICIRI azct ucrel o siizafeds card A siféred 3 St BidrmIsil & arse 3, axiifes

[Question ID = 239][Question Description = 139_39_BIO_AUG22_Q39]
1. there is a higher concentration of sodium and chloride ions in the blood than the interstitial fluid

sicRretlRr aet ugtef 1 getolt 3 b A A 3R aciRISS 3MRIGl DI Ica Aigar aledt &

[Option ID = 953]
2. there is a higher concentration of water in the blood than in the interstitial fluid

sicRreflRr a2t uatef &1 geton 3 I 3 urell Bt Ica Aigar Bt 3
[Option ID = 954]

3. of the plasma proteins present in blood
b 3 dilglg terrse Qictor 1

[Option ID = 955]
4. of the hydrostatic pressure produced by the heart’s contractions

& D A@doel GRI 3cUool BISGIRICD GdId DI

[Option ID = 956]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Peptide and polypeptide hormones directly pass across the lipid bilayer of the plasma membrane

Reason R : Oxytocin hormone can pass across the plasma membrane



In light of the above statements, choose the correct answer from the options given below

il 51 weret fRu a1e 3 1 uas @l sifdrperdt (A) 3iiz g3 @ ao (R) sl srn 3
aifdrperet (A) : Uwerss 3R dicliterss smfor 2018 werrsan Rreedl & foifts ardelRir A sfsid 3|
aads (R) : sifa=ficiR¥e1 sifor e fBrecdl & urR s aawar 3

Sutfep werell & arcie 3 Rreriftoa Riwcdl 3 3 318 saz gl :

[Question ID = 240][Question Description = 140_39_BIO_AUG22_Q40]

1. Both A and R are true and R is the correct explanation of A
(A) iz (R) croif 2t &3l (R), (A) 6t 2 =meen &

[Option ID = 957]
2. Both A and R are true but R is NOT the correct explanation of A
(A) 3z (R) clail 3t & weag (R), (A) &t 3d wreen ordt 8

[Option ID = 958]
3. Ais true but R is false
(A) & 8 weog (R) it o &

[Option ID = 959]
4. Ais false but R is true
(A) & odf 3 weog (R) 2t &

[Option ID = 960]

41) Match List | with List Il

List | List 1l
IA. Nuclear envelope I. Nonmembranous
B. Nucleolus Il. Network of membranous sacs and tubes;
C. Endoplasmic Reticulum|lll. Double membrane
D. Nuclear lamina IV. Netlike array of protein filaments
\V. Digestive organelle

Choose the correct answer from the options given below:

et -1 1 3 -l A AT Bifdre :

e -1 e -l

/A.BogDIRI a1 l. 317 frceiicR

B.5fereriTerzt |l.Rrcefier cft iz aferil &1 olcas

C .osIanfSare eagern Ill. st fRrecht

D.5yfererrz cifdrem IV.qxée1 fisericat ot sicanse vt
V. urerel 3isra

offdl fou oo fraseul 3 21 18l o= gfero :

[Question ID = 241][Question Description = 141_39_BIO_AUG22_Q41]
. A-lll, B-Il, C-1V, D-V [Option ID = 961]

. A-ll, B-lll, C-1V, D-1 [Option ID = 962]

. A-lll, B-I, C-Il, D-1V [Option ID = 963]

. A-l, B-ll, C-lll, D-V [Option ID = 964]

A w N =

42) A section of double-stranded DNA is composed of 32% adenine bases. What is the percentage of cytosine bases in the
section of DNA?

SECl 3¢53 STl BT Ueb 331 32% u3fotol 91 A Joll 3 $1Wolu & 3rgIaiIel I ATSARTS 91 @1 yferord fepdeir 37

[Question ID = 242][Question Description = 142_39_BIO_AUG22_Q42]
9% [Option ID = 965]

18% [Option ID = 966]

36% [Option ID = 967]

64% [Option ID = 968]

A W N -

43) Which of the following enzyme activity is increased when the cellular ATP/AMP ratio is decreased?

S Acicl? Beil/vuardl srofurd @ 3l Sirel 8 dl fordorfeii¥ad 3 A il Hl Comsa sifafaf? 96 il 37



[Question ID = 243][Question Description = 143_39_BIO_AUG22_Q43]

1. Pyruvate kinase
URIHIC PISOIST

[Option ID = 969]
2. Hexokinase

SFAIDISoIST
[Option ID = 970]

3. Glucokinase
SCIDIDISOrST
[Option ID = 971]

4. Phosphofructokinase-1
BRBIGacIPbISolSt 1
[Option ID = 972]

44) A section of double-stranded DNA is composed of 22% Adenine bases. What is the percentage of Guanine bases in the
section of DNA?

Sacl 3¢33 S0l I uab 331 22 gferora usforol 91 A o1 8 Slvolu @ 3roIH1SI 3 I3MTelISal A1 DI Yferord Rpdon 37

[Question ID = 244][Question Description = 144_39_BIO_AUG22_Q44]
22% [Option ID = 973]
28% [Option ID = 974]
44% [Option ID = 975]
56% [Option ID = 976]

AN wnN -

45) If a diabetic patient takes too much insulin, misses a meal or exercises too hard, he/she will become hypoglycemic - a
medical emergency that must be treated immediately. Which of the following carbohydrates would be most useful during
such an emergency?

SRISEIST @ HA3ISI 3P SAICT $3fcTol cldl 8, ol ofdl I UId & AT SAIGI RARIH B3d & dl d8 sEulscisAlND Bl Slesn-ud Afdaod sasiHl SrIm! gid serst
fep=n siren anfde s ave o1 smura Rerfer @ Sikra foeifeiRaa 3t 21 et 1 eralesse AR sifere IuRNel gen?

[Question ID = 245][Question Description = 145_39_BIO_AUG22_Q45]
1. Galactose
Stctarcrst

[Option ID = 977]
2. Maltose
Jecrst

[Option ID = 978]
3. Lactose
SISt

[Option ID = 979]
4. Sucrose

IR
[Option ID = 980]

46) How many nucleotides are in 56 mRNA codons?
56 mRNA @ISiar 3 fpdol ufdrerilcrss 8?7

[Question ID = 246][Question Description = 146_39_BIO_AUG22_Q46]
168 [Option ID = 981]

224 [Option ID = 982]

56 [Option ID = 983]

112 [Option ID = 984]

A w N =

47) A large slice of Margherita pizza has 600 kcal. Assume that you could burn the pizza and use all the heat to warm a 60L
flask of cold water, what would be the estimated rise in the temperature of the water?

JrEifeer fissn & v a3 gaps 3 600 Rpcll D Bicdl 3 airet <ifSie fp 3ma forsst Sten A@a 3 31k gl sl o1 3uzileT 83 urell @ 60 cfic bare @I st
Dol D fe1u 2 AADa 3, urell © aruret 3 sopferd gfis a=m sefl?

[Question ID = 247][Question Description = 147_39_BIO_AUG22_Q47]
1. 5°C



5 f&aft Afearrr

[Option ID = 985]
2. 10°C
10 f3aft Afesrrr

[Option ID = 986]
3. 50°C
50 foft Afeerrt

[Option ID = 987]
4. 100°C
100 foft Aeerrr

[Option ID = 988]

48) A group of geneticists are trying to figure out the dominance hierarchy for a newly discovered plant. They have found that
when a true-breeding red plant is crossed with a true-breeding blue plant, the resulting offspring are purple. What is the
most likely explanation for this result?

TIAfIrhT fIITSIl BT U FE TP oI¢ ISt 31C Ul & fo1e Yara USToldd 1 U cIoTTol o1 BIHII9I b2 B 3 Ioslol URM & b S U Irl-Yiolol aTel elicT
dif) &Y AL1-Yslolol darel oflcl difl & el Yicp: fopan Sirer 3, af uRvierazeu a<d Jorell 81d & 331 uf¥umar & ferg ey Asnfaa e o= 37

[Question ID = 248][Question Description = 148_39_BIO_AUG22_Q48]
1. Red is the dominant allele
et gorrdt uefler

[Option ID = 989]
2. Blue is the dominant allele
offetr yorrdt wefler 8

[Option ID = 990]
3. Incomplete dominance
3rquf gamfdar

[Option ID = 991]
4. Codominance

JrByfaar
[Option ID = 992]

49) Which of the following crosses can never result in a recessive phenotype?
forgaiferRaa 3 2 Dol AT YRid2 U AYIIdl A3ctgivit 3 ot off ufrvmar a8t w2 rpar 3?7
[Question ID = 249][Question Description = 149_39_BIO_AUG22_Q49]

1. TtPp X Tt Pp

[Option ID = 993]
2. ttpp XTT PP

[Option ID = 994]
3. ttpp XTtPp

[Option ID = 995]
4. TT Pp X tt pp

[Option ID = 996]

50) When a black rabbit and a lilac rabbit are crossed, all of the offspring have black and lilac spots. What type of genetic
inheritance is represented here?

SId U pIcl FRFNYI 3R U dbIsol FRPII DI YADUI AT SIIer 3, dl il Adrell 3 dIcl 31R IbIsel &ed Bid & AsI b YDR DI IMo[didd
feRIIa @I gori srRI 37

[Question ID = 250][Question Description = 150_39_BIO_AUG22_Q50]
1. Incomplete dominance

3rquf gemfaar

[Option ID = 997]
2. Codominance

ABYHITIAAT

[Option ID = 998]
3. Polygenic inheritance



TG dorarfer

[Option ID = 999]
4. Pleiotropy

Reerheflt
[Option ID = 1000]






